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BBepneHue
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ouyHoro u 3aouHoro otaeneHuilt TYCVYP, oOywaromuxcs nmo ydyeOHOMY MOCOOUIO
‘English for Engineering Faculties’ (aBtopel Kamymuna JI.b., JIerukoBckas JLE.,
Menrapar E.P., Tapakanosa O.W.). Ilocobue coctout u3 nByx paszaenoB. IlepBsiii
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Speech Course u cnocoOcTByeT (OPMUPOBAHMIO  JIMHTBUCTUYECKUX U
OOILIEKYIbTYPHBIX KOMIETEHIINI B cOOTBeTCTBUM ¢ TpeboBanusimu OI'OC.
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pa3BUTHsI JUHTBUCTUYCCKUX ¥ MPOPECCHOHAIBHBIX KOMIICTCHIIMH  OymayIumx
CHEUATHNCTOB.



ORAL SPEECH COURSE

UNIT 1

Articles a (an) / the

A (an) =one
I see a man in the street.

The = that

The man I see is your brother.

Jobs: a doctor, an artist

Nouns, denoting  such
numbers as: a hundred, a
thousand, a million, a
billion

Rivers: the Thames, the Ob

Mountains: the Alps (but: Everest).
States: the Russian Federation, the USA, the United Kingdom
Ordinal numbers: the first, the twenty-fifth

Superlative degrees: the best,

Expressions: in / to the east,

the most important

at the theatre, the same, in the city /

country / world, etc., to play the guitar, to the left / right

No article is used

Cities: Tomsk, London, Moscow
Countries: Russia, Germany (but: the Ukraine)
Noun + cardinal number: flat five

1.1.

Complete the following texts with a, an, the or —.

1. We live in ... St. Petersburg. ... St. Petersburg is ... very large city. It is one of
... largest cities in Russia. A lot of tourists from different countries come ... to
St. Petersburg. They want to see one of ... most beautiful cities in ... world.

2. My name is Charlie. I come from ... pretty big family. I have ... two brothers
and ... sister. I am ... oldest and my sister is ... youngest; she plays ... violin
really well and wants to be ... professional musician. She has other hobbies,
too, and she often goes swimming with her friends if ... weather is nice.

3. My friend’s flat is very comfortable. There are three rooms in ... flat: ... living

room, ...
walls in ...

study and ... bedroom.

sofa. Near ... sofa there

... living room is ...
living room are blue. There are some pictures on ...
is ... table in ... middle of ...
... door there is ...

room with some chairs around it. To ...

largest of all.
walls. There

left of
are two large armchairs. They are

very comfortable. There is ... piano in my friend’s living room. The piano is to

. right of ...
flat 1s brown.

door.

... bedroom and ... study are small.

... furniture 1n ...




4. There is ... map of ... world on ... wall of ... classroom. There are many ...
seas and ... lakes on ... map. This is ... Mediterranean Sea and that 1s ... Red
Sea. These are ... Himalayas. They are ... highest mountains in ... world.

Plurals
-s [z] — T [s]
aboy+ -s boys a parent + -§ parents
a girl +-s girls
-es [1z]
an address + -es addresses

a potato — potatoes
Exceptions: a piano — pianos, a solo — solos, a photo — photos,
radio — radios, studio — studios

a family + -es families

-f, -fe: a wife — wives, a scarf — scarves
(but: a chief — chiefs, a roof — roofs)

Irregular Plurals

a man —men, awoman-— women

a tooth — teeth, a goose — geese, a foot — feet
a mouse — mice, a louse — lice

an ox — oxen, a child — children

a person — people

an aircraft — aircraft, a sheep — sheep, a swine — swine, a fish — fish,
a deer — deer

an analysis — analyses, a basis — bases, a crisis — crises, a thesis — theses,
a criterion — criteria, a datum — data, a phenomenon — phenomena

Only singulars: Only plurals:
money, hair, business, fruit, progress, advice, trousers, jeans, shorts, glasses, scissors,
information, news, knowledge, furniture, people, police, clothes, goods, riches,
luggage, peace, love manners, thanks

1.2. Choose the correct variant.

Maths is / are difficult to me.

These jeans is / are very fashionable.

. The gentleman is / are very polite.

4 Women is / are not allowed to visit this place.
5. The money is / are not enough to buy this car.
6. His feet is / are hurt.
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7. My teeth is / are white.

8. There is / are some men in the office.
9. These fish is / are big.

10. The news is / are very interesting.

Choose the correct variant.

1. Peter and Sam like fried ... very much.

a) potatos

b) potates

2. I had three ..., but now I’m single.

a) wifes

b) wives

3. There are a lot of ... in the house.

a) mices

b) mouses

4. These shoes are too large for my ... .

a) feet

b) foot

5. There are a lot of ... in our woods.

a) wolfs

b) wolves

6. Our ... are very competent.

a) chiefs

b) chieves

7. She doesn’t like ... .

a) partys

b) parties

8. Are these workers ... ?

a) Englishmen

b) Englishmans

9. These ... are my sons.

a) childs

b) children

10. They are good ... .

a) secretarys

b) secretaries

Choose the correct variant.

1. Men
a) uncountable

2. Crises
a) uncountable

3. News
a) uncountable

4. Phenomena
a) uncountable

5. Money
a) uncountable

b) countable - singular

b) countable - singular

b) countable - singular

b) countable - singular

b) countable - singular

c) potatoes

c) wifs

C) mice

c) foots

c) wolfes

c) chievs

c) partes

c¢) Englishmens

c) childrens

c) secretares

c) countable - plural

c) countable - plural

c) countable - plural

c) countable - plural

c) countable — plural



Possessive Case

Diana’s brother (= the brother of Diana)
but:
Diana and Richard’s brother ( = brother of Diana and Richard)
She is Dan’s girlfriend = She is his girlfriend.
[s] Kate’s boyfriend
[z] Ronald’s car; Anna’s flat
[1z] Dess’s computer

his son’s name = the name of his son
his sons’ names = the names of his sons
But: his children’s names = the names of his children

1.5. Change the following phrases using right possessive forms of the nouns in

brackets, as in the model.

Model: the house of Mr. Smith - Mr. Smith’s house

The skateboard of that man; the questions of my son; the wife of my brother; the
table of our teacher; the poems of Pushkin; the new club of the workers; the car of
my parents; the life of this woman; the works of Rembrandt; the bags of those

women

The verb to be

Present Simple forms

Affirmative forms
] —> am
He\ / She We \ Y‘O}
is are
It They
Interrogative forms
Am I? }
: \ A‘re/ \
he she it? we you  they?
Negative forms
1 —>am not
He She We You
\Ps %ot ‘/h are n}f T ¥
It They




Past Simple and Future Simple forms of the verb to be

Past Simple

Future Simple

I /We

You —>were € You
was | He
] She They
It

You——>Swillbe «— You

AN

It They

Short negative forms:
wasn’t, weren’t

Short negative forms:
shan’t be, won’t be

1.6. Complete the following sentences with the correct form of the verb to be.

1. Where ... Andrew now ? — [ don’t know. Yesterday he ... in France. Tomorrow

he ... in England.

a) is, 1s, was b) is, was, will be

c) 1s, will be, was

2.1... Lena and this ... my brother Nick. We ... from St Petersburg.

a) am, was, are

W

football and swimming.
a) is, isn’t, are

b) am, is, were

. My father ... a programmer. He ...

c) am, is, are

interested in politics. His favourite sports ...

b) is, wasn’t, are c) is, isn’t, 1s

4. ... you busy? — No, I ... not. Mike ... busy. He ... the busiest person I’ve ever

met.
a) Is, am, was, is

b) Are, am, is, 1s

c) Are, am, is, was

5.How ... you? — 1 ... not very well today. — I ... sorry to hear that.

a) is, am, am b) is, am, was

c) are, am, am

6. You ... right. That’s a lot of money! Coffee ... really very expensive this week.

a) are, 1S b) is, are

3

in five year’s time.
a) is, was, will be

o0

Ne)

b) was, 1s, will be

c) are, will be

. My sister ... a schoolgirl last year, and now she ... a student. She ... an economist

c) 1s, will be, was

. My sister ... ill last week. She ... not ill now.
a) is, was b) was, is

c) were, 1S

. Where ... you yesterday? — I ... at the cinema.
a) were, am b) was, am

c) were, was

10. When I come home in 2 hours, I hope all my family ... at home.

a) will be b) is

c) are



1.7. Complete the following tests with the correct form of the verb to be.

1. Hello! My name ... Boris. I ... seventeen. My friend’s name ... Igor. He .
seventeen, too. We ... from Russia. Last summer we ... at the seaside. The
weather ... sunny. We had a good time. I hope next summer it ... sunny and
warm, too. Some day in future I ... lucky to visit London and my holidays ...
great.

2. Ronald Wood ... a managing director of the First Bank of Kingsville on Main
Street. He ... always on a business trip. Yesterday he ... in Geneva. Tomorrow he
... iIn London. Last week he ... in Chicago. Next week he ... in New Orleans. At
the moment he ... in Amsterdam. In two hours he ... in the Hague. Three days ago
he ... in Paris. At the end of his trip he ... usually very tired but happy. He ... with
his family now. His sons ... so much excited. They have got new toys from their
father. Everybody in the family ... very glad to see him at home again.

The verb to have (got)

Present Simple forms of the verb to have (got)

I We He She
have got has got
You They It
I have got a brother.
He has got a car.

Short forms: I’ve got (=1 have got)
She’s got (= She has got)

Have you got a brother? — Yes, I have. / No, [ haven’t. (= have not)
Has he got a car? — Yes, he has. / No, he hasn’t. (= has not)

Have you got any children?
I haven’t got a brother.

He hasn’t got a car.
We haven’t got any children.

1.8. Complete the following dialogue with have got or has got.

- Good morning. ... you ... red skirts?

- Sorry we ... ... any red skirts, but we ... ... got some blue ones.

-And ... you ... blue jeans?

- Yeah. We ... ... different styles of blue jeans. Look at these ones. Do you like
them?

- Oh. They’re very nice! Can I try them on?
- Yes, of course. The fitting room is over there.
- Thanks.



1.9. Complete the following text with have got or has got.

My name’s Mary. I live in London and I ... ... two brothers, Sam and Tom, and a
sister, Jenny. We ... ... a big house and a garden. Tony and Lenny like computer
games. They ... ... ten! Jenny and I like music. She ... ... lotsof CDsand I ... ... a
guitar! I play in a band with my friends. We ... ... two guitarists, a drummer and a
singer.

Past Simple and Future Simple forms of the verb to have

Past Simple Future Simple

I We l-—------ »shall have<------ We

You
Till have
He He /
She They She }
It

It

You had You

/N

Short form -1l

Short negative forms:
shan’t have, won’t have

1.10. Complete the following sentences with the correct form of the verb to have
(got).

.1... agood idea!

. The new supermarket ... got everything.

. Last year we ... a very noisy neighbour.

. You ... got eight correct answers.

. They ... an expensive sport car in a year.

. We ... got two sons, but we ... got a daughter.

. We ... terrible weather last summer.

. ... you got 10 dollars? — Sorry, I ... got any money on me.

9. A flag of Israel ... got the six-pointed star on it.

10. ... they got many friends in Britain? — Only two.

11. We ... an old Mercedes, but it broke down.

12. The house ... got a lot of furniture.

13. James ... got a lot of friends in Europe, but he ... got any in the USA.

14.We ... a lot of problems but now we haven’t.

15.1 think they are quite rich. They ... got a huge house in London, and one in Paris,
too.

16. David and Victoria ... lunch in my restaurant last week.

17. ’m sorry. I can’t help you. I ...got no money.

18. ... she got two brothers or just one?

19. I hope we ... a wonderful weekend in the country next week.

20. We ... areally good time at Dan’s birthday party last Saturday.

O ~J N DN K~ WD —
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UNIT 2

Present Simple Tense

I always do my homework in the evening.
He always does his homework in the evening.

I do not (don’t) do my homework in the morning.

We do not (don’t) have lessons on Sundays.

He does not (doesn’t) do his homework in the morning.
She does not (doesn’t) work in a shop.

Do you have lunch at the university cafeteria?
—Yes, [ do./ No, I don’t.

Does he work in an office?
—Yes, he does. / No, he doesn’t.

What time do you go to bed? — I go to bed late.
Where does he live? — He lives in the hostel.

2.1. Complete the following sentences with the correct form of the verb.

1. Steve never ... (talk) about his success.

2. T always ... (answer) the teachers’ questions.

3. She sometimes ... (come) late for the first lecture.
4. At the weekend David ... (have) a lot of free time.
5. Kelly often ... (phone) to her parents.

6. My friends never .... (go) for a walk at night.

7. She ... (wake up) at six o’clock every morning.

8. Ann and Kate ... (like) playing tennis.
9. I... (collect) stamps.
10. Bob ... (want) to be an engineer.

2.2. Make the following sentences negative.

Model: I have some free time on Saturday (weekdays).
[ don’t have any free time on weekdays.
1. Fred has a shower every morning (evening).
2. On Sundays my parents go to the countryside (city park).
3. Kelly leaves home at half past eight every day (at half past nine).
4. We do our home work on Sundays (on Saturdays).
5. She does morning exercises every morning (at weekends).
6. Bob gets up early on weekdays (on Sunday).
7. Every Friday they play football in the university gym (basketball).
8. Mary visits her parents on summer holidays (on winter holydays).
9. Jane knows how to ski (to skate).
10. Our volleyball team always wins the competitions (football team).
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2.3. Complete the following sentences with do or does.

1. ... your mother like cooking?

2 . Mike and Kate go to Spain in summer?
3. ... it snow in winter in Great Britain?

4. ... Joe help his parents in the office?

5. ... you want to be a businessman?

6. ... she often visit her parents?

7. ... Cliff work for the computer company?
8. ... they ever go to the cinema?

9. ... he attend all the lectures?

10. ... Bob want to be a shop-assistant?

2.4. Put the questions to the underlined words.

Model: My group-mate knows physics very well. (What subject...?)
What subject does my friend know very well?

1. The students have laboratory works every week. (How often...?)

2. Ann likes classical music. (What music...?)

3. They get to the university by bus. (How...?)

4. Henry leaves home for the university at 8.30. (What time...?)

5. The students of my group have lunch at the university cafeteria. (Where...?)
6. Lucy and Helen work a lot. (Who...?)
7
8
0.
1

. Our group has three lectures on Friday. (How many...?)
. On Monday my lessons finish at three p.m. (When...?)

I meet my group-mates every morning in the hall. (Who...?)
0.Angela comes from Italy. (Where...?)

2.5. Answer the following questions.
Where do you come from?

Where do your parents live?

Do you play any sports?

Does your mother work at weekends?
What time do your lessons start?
Where do you have lunch?

What time do you wake up?

When do you do your homework?

9. Dou you have laboratory works every week?
10.Which university subject do you like?
11.What do you do at weekends?
12.How often do you go to the gym?
13.Does your best friend have a car?
14.When do you have session exams?
15.Why do you want to be an engineer?
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Present Progressive Tense

My friend is looking for a well-paid job.
I am working on my course project at the moment.
We are preparing for the test in computer science now.

Is your friend looking for a well-paid job?
—Yes, he is. / No, he isn’t.

Are you working on your course project at the moment?
—Yes, Il am. / No, ’m not.

Are you preparing for the test on computer science now?
— Yes, we are. / No, we aren’t.

My friend is not (isn’t) looking for a well-paid job.
I am not "m not) working on my course project at the moment.
We are not (aren’t) preparing for the test on computer science now.

Where are you living now?
— I am living with my parents in the country.

2.6. Complete the following sentences with the correct form of the verb to be.

1. He ... working hard at his French.

2. We ... having lectures at the moment.

3. I ... waiting for my mother near her office.

4. They ... visiting the university museum now.

5. David ... having an important meeting on Wednesday.

6. My group-mates ... preparing for the test in Computer Science.

7. She ... planning to get the second education.

8. Jack ... doing his best to pass session exams with excellent marks.
9. This term the students ... taking part in our project.

10. I ... working hard to get good results.

2.7. Complete the following sentences with the correct form of the verb.

1. Henry ... (not sleep) now. He ... (clean) his room.

2. My friends ... (have) lunch at the university cafeteria.

3. Steve ... (not work) at the office today. He ... (prepare) for the report at home.

4. At the moment I ... (try) to find a well-paid job.

5. My parents ... (come back) from Italy next Saturday.

6. His friends ... (not play) tennis in the sport club. They ... (do) exercises at the
university gym.

7. She ... (think) about the results of her test in Maths.

8. We ... (not listen) to the news. We ... (watch) an interesting film.

9. Is Chris at home? - No, he isn’t. He ... (relax) in the countryside.

10. They ... (not speak) English. They ... (speak) French.
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2.8. Put the questions to the underlined words.

Model: Tom is living in the hostel at the moment. (Where ...?)
Where is Tom living at the moment?

1. He is having a wonderful time in Egypt. (Where ...?)

2. 1 am planning to finish my project by the end of the week? (What ...?)
3. We are taking books from the library. (Where ...?)

4. Alex is wearing a very smart suit today. (What ...?)

5. She is trying to find a good job now. (Who ...?)

6. They are having two English lessons this week. (When ...?)

7

8

9.

1

. Ann is talking on the phone with her mother. (Who ...?)

. My friends are having three exams this term. (How many exams ...?)
Right now we are writing a difficult test. (What ...?)

0.Those people are speaking English. — (What language )

2.9. Answer the following questions.

1. Are you preparing for the test now?

2. Is your mother working at the moment?

3. What is your best friend doing?

4. Are your group-mates having English now?

5. What are you doing next weekend?

6. What are you doing at the moment?

7. 1s your father reading a newspaper now?

8. Is anybody listening to you now?

9. Are your parents planning to spend a holiday in Thailand?
10.What are you wearing at the moment?

Present Simple Tense and Present Progressive Tense

Present Simple Tense Present Progressive Tense

I always have lunch with my I am having lunch with his

class-mates at 12.30 in the afternoon. class-mates now.

We do not (don’t) usually do our We are not (aren’t) doing our

homework at weekends. homework today because it is
Saturday.

Do they go to the gym every day? Are they going to the gym at the
moment?

— Yes, they do. — Yes, they are.

— No, they don’t. — No, they aren’t.

Where do you usually go after Where are you going?

lessons? — 1 am going to the library.

— T usually go to the library.
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Permanent action (state) Temporary action (state)

He works as a university teacher. He is working in a bank aft the
moment.

She doesn’t live in London. She lives in | She is not (isn’t) living in

Milan. London now. She is living in
Milan.

Does she have many lessons every Is she having many lessons this

week? week?

— Yes, she does. — Yes, she is.

— No, she doesn’t. — No, she isn’t.

What does she like cooking? — She What is she cooking? — She is

likes cooking meat dishes. cooking something delicious.

time expressions time expressions

always, never, usually, sometimes, often | now, right now, at the moment

every day (week, month, year) at present, today
once a week (a month, a year) tonight
twice a week (a month, a year) this week (month, year)

three times (a month, a year)

2.10. Choose the correct variant.

1. Ann 1s in the kitchen. She ... a cake.

a) 1s making b) makes

2. It ... in this part of the world.

a) 1s often raining b) often rains

3. Peter is an engineer. He ... for Sony Company.

a) works b) is working

4. Why ... to the library on Fridays, but not on Saturdays?
a) doyou go b) are you going

5. Ann ... session exams next week.

a) has b) is having

6. 1 ... listening to rock music.

a) don’t like b) am not liking

7. Mary ... her homework. She is in the bathroom.

a) isn’t doing b) doesn’t do

8. Where is Kate? I ... her.

a) look for b) am looking for

9. Tom is a photographer. He ... beautiful photographs.
a) is taking b) takes

10. I don’t know Spanish, nut I ... it now.

a) am learning b) learn

15



11. Most people ... travelling by plane.

a) enjoy b) are enjoying

12. Mary usually ... the shopping on Friday evenings.
a) is doing b) does

13. Soccer ... a popular sport in the United States now.
a) becomes b) is becoming

14. I can’t come right now because I ... breakfast.

a) am having b) have

15. I never ... on weekdays.

a) go out b) are going out

2.11. Complete the following sentences with the verbs am /is / are / do / don’t / does
/ doesn’t.

1. Excuse me. ... you speak English?

2. ‘Have a cigarette.’ - No, thank you, I ... smoke.

3. Why ... you looking at me?

4. Where ... you come from? - From Canada.

5. I can’t talk to you at the moment. I ... working.

6. What ... she do? — She is a dentist.

7.1... want to go out. It ... raining.

8. George is a good tennis player but he ... play very often.
9. How much ... it cost to send a letter to Canada?

10. It is a cheap hotel. It ... cost too much to stay there.

2.12. Complete the following sentences with the correct form of the verb.
1. 1... (have) solid breakfast every morning.

2. We usually ... (do) the shopping at weekends.

3. He often ... (go) to the gym.

4.1 ... (have) an important meeting next Tuesday.

5. Look! Joe ... (talk) to the dean of our faculty.

6. What ... you ... (do) tonight?

7. What book ... you ... (read) now?

8. Keep quiet! My room-mates ... (sleep).

9. Where ... you usually ... (go) on holidays?

10. It ... (rain), take your umbrella.

11. What ... this word ... (mean)?

12. He is a person who ... (like) playing computer games.

13. ... you ... (listen) to me?

14. What ... Fred ... (do) at the weekend?

15. The students of our university ... (take part) at the conferences every year.
16. John ... (hate) having lunch in a restaurant.

17. I am sorry, I can’t talk to you, I ... (prepare) for tomorrow meeting.
18. Don’t waste time. We ... (wait) for you.

19. Who ... you ... (think) about?

20. When the weather is rainy we never ... (go out).

16



Future Simple Tense

I’ll call you later.
Will you work?

—Yes, I will. / No, I won’t.
You will not (won’t) get to work in time.

Where will you work? — I will work at home.

Note: I, We shall work (in written and official speech)

2.13. Complete the following sentences with the correct form of the verb.

1. 1... (be) twenty-one next week.

2. I think you ... (find) a good job after the graduation from the university.
3. ... you ... (give) me your telephone for a moment?

4. Who ... (go) to the cinema with me next weekend?

5.1... (start) a new project at the end of the summer.

6. When ... you ... (know) the exam results?

7. 1 expect your friend ... (join) us soon.

8. ... you ... (show) me your paper before the conference?

9. How ... you ... go to the university tomorrow: on foot or by bus?

10. She ... (have) a Christmas Party soon.

Conditionals |

If you study hard, you will pass your exams.

If he runs fast, he will win the race.

If you don’t study hard, you will not (won’t) pass your exams.

If he doesn’t run fast, he will not (won’t) win the race.

Conditionals I: if and when

If I have free time, I’ll go to Paris.

When 1 have free time, I’ll go to Paris.

If he doesn’t cook dinner, we will order a pizza.
We will order a pizza if he doesn’t cook dinner.
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2.14. Choose the correct variant.

1. When I ... the exam results, I will phone you.

a) will know b) know

2. If you miss the lecture, you ... problems with the exams.

a) have b) will have

3. When I come back, I ... you some important questions.

a) will ask b) ask

4. If my parents ... a new car, we will travel a lot.

a) buy b) will buy

5. If you ... my advice, give me to know.

a) will want b) want

6. Watch the football match on TV at 11 p.m. if you ... at home tonight.
a) will stay b) stay

7. Mrs. Clay will go shopping today if she ... her work earlier than usual.
a) will finish b) finishes

8. We ... time for tea if he comes in time.

a) will have b) have

9. If you ... less fast food, you will be much healthier.

a) eat b) will eat

10. Your parents will worry, if you ... session exams.

a) don’t pass b) won’t pass

2.15. Complete the following sentences with the correct form of the verb.

1. If you ... (not study), you ... (fail) the test.

2. If you ... (not know) an English word, look it up in a dictionary.

3.1... (help) you if you ... (ask) me.

4. ... you... (give) me a call if you ... (have) time this evening?

5. You ... (get) a lot of knowledge if you ... (attend) all the lectures.

6. If you ... (come) in time, we ... (not be) late for the concert.

7. If you ... (not do) your homework, I ... (not let) you watch TV.

8. If you ... (tell) me about your problems, I ... probably ... (help) you to solve some

of them.

9. If Caroline ... (arrive) late for the meeting, her boss ... (be) angry.
10. ... Sarah ... (be) upset if we ... (not go) to her party?

11. If I ... (lose) my money, I ... (ask) my parents to lend me some.
12. What ... (happen) if you ... (miss) this lecture?

13. If Peter ... (do) lots of exercise, he ... (be) fit and healthy.

14. If Dennis ... (not write) soon, I ... (phone) him.

15. What ... you ... (do) if you ... (not pass) an exam?
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Past Simple Tense

Two years ago 1 finished school and entered the university.
Yesterday she went shopping and bought some souvenirs
for her family.

He did not (didn’t) play football yesterday.
They did not (didn’t) have lunch together /ast week.
I did not (didn’t) live in Italy a year ago.

Did you go shopping yesterday?
— Yes, [ did. / No, I didn’t.

Did he listen to jazz yesterday?
—Yes, he did. / No, he didn’t.

What time did you come home yesterday?
— I came home at about 10 in the evening.

2.16. Complete the following sentences with the correct form of the verb.

1. I... (take) some interesting books from the library yesterday

2. 1... (receive) an e-mail from Kelly yesterday evening.

3. I was very tired yesterday evening, so I ... (g0) to bed early.

4. Sue was hungry in the morning, so she ... (eat) some sandwiches for breakfast.
5. We ... (arrive) at Kate’s house but she wasn’t at home.

6. The lunch wasn’t very expensive and I ... (like) it a lot.

7. 1... (have) a lot of free time yesterday so I ... (meet) with my friends.

8. I was very busy yesterday, so I ... (phone) to you so late.

9. Kate ... (make) a cake yesterday and ... (invite) all her group-mates for dinner.
10.Yesterday my father ... (find) a new job.

11. He ... (come) late yesterday and he ... (go) to bed immediately.

12. She ... (graduated) from Oxford and ... (become) a business woman.

13. Tusually go to the university by bus but yesterday I ... (walk).

14. She ... (give) me her address and phone number.

15. He ... (buy) a new computer last month and it ... (cost) too much.

16. 1 ... (send) an article to the international journal.

17.1... (start) a new project last week and it takes lots of my time.

18. This morning we ... (drink) some coffee with milk for breakfast.

19. When I was at Helen’s party, I ... (see) Jeremy and Ann.

20.Yesterday evening ... (do) my homework, ... (have) a shower and ... (go) to bed.

2.17. Make the following sentences negative, as in the model.

Model: Our teacher answered all of our questions. (Our dean)
Our dean didn’t answer all of our questions.

1. T asked e-mails from my colleagues. (phone numbers)
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2. 1 visited my grandparents last winter. (parents)

3. Kelly went to bed early yesterday evening. (late)

4. Andrew bought some interesting books. (magazines)
5. We went to the USA last summer. (Italy)

6.
7
8
9.
1

They met their group-mates at the party. (class-mates)

. Klaus graduated from Oxford University. (Cambridge University)
. My friends learnt English at school. (German)

[ knew a lot about English traditions. (Russian traditions)

0.Chris finished his course project. (diploma project)

2.18. Put the questions to the underlined words.

Model: My friend sent me an e-mail yesterday. (When ... ?)

When did your friend send you an e-mail?

I finished school two years ago. (When ... ?)

Sarah came home at 10 p.m. (What time ... ?)

Tom bought two pizzas for lunch. (How many pizzas ... ?)
Sally had a wonderful weekend in Rome. (Where ... ?)
Terry travelled to Egypt with his girlfriend. (Who ... ?)
They started the course of English a month ago. (What ... ?)
Greg told me about his plans. (Who ... ?)

I went to the university by taxi yesterday. (How ... ?)

. You saw Mrs. White at the exhibition. (Where ... ?)

0 She came late because she didn’t get up in time. (Why ... ?)

2.19. Answer the following questions.

1. When did you enter the university?

2. What time did you get up today?

3. Did you study English at school?

4. Where did you go last summer?

5. How many lessons did you have yesterday?
6.
7
8
9.
1

Did you visit you parents last weekend?

. How did you get to the university yesterday?
. Why did you enter the university?

Who did you go to the cinema with?

0. Did you have breakfast today?
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Present Perfect Tense

I have already done my homework.

I have not (haven’t) gone shopping yet.
Have you washed the dishes yet?

—Yes, I have. / No, | haven’t.

She has written an article for the conference.
He has watched a new film.

I have known my friends since 2001.

I have read “Gone with the Wind” three times.

2.20. Complete the following sentences with the correct form of the verb.

Barbara ... already ... (prepare) for the seminar.

I ... (do) all the tasks so I am ready for the test.

Nobody ... (see) Henry since yesterday.

I ... (finish) my report but I ... (not send) it to the professor.

He feels excited because he ... (pass) all his exams.

We ... (make) a lot of delicious dishes for the party.

Carol ... (read) three books this month.

Janet ... (not call) me back and I feel worried.

9. Lilly ... (be) to Paris twice.

10. I ... (not leave) my native town yet.

11. They feel proud because they ... (take part) in the international conference.

12. ... you ... (meet) Alice today?

13. ... he ... (tell) his friends about the meeting?

14. We ... just ... (return) from Moscow.

15. Our teacher ... (ask) us a lot of questions during the lessons.

16. Jeremy ... (not know) about his failure yet.

17.1 ... just ... (e-mail) to my colleagues and ... (inform) them about the changes in
timetable.

18. They ... (tell) the boss about their future plans.

19. Bill is not in the town. He ... (not come) back from London yet.

20. What ... you ... (do) with your hair?

PN R =
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Present Perfect and Past Simple Tenses

He has just passed his Maths exam.
He passed his Maths exam a week ago.

I have not (haven’t) read the fashion magazine yet.

Have you ever been to Italy?
—Yes, [ have.
— No, I haven’t.

When did you go to Italy? — I went there three years ago.
Did you like living there?

—Yes, I did.

— No, [ didn’t.

I did not (didn’t) read the fashion magazine yesterday morning.

2.21. Choose the correct variant.

1. We ... around Europe last year.

a) travelled b) have travelled
2. I... Pete today.

a) didn’t see b) haven’t seen
3. He ... home an hour ago.

a) has come b) came

4. He ... to Professor White.

a) never talked b) has never talked
5. Where ... your holidays last summer?

a) have you spent b) did you spend
6. They ... about this man.

a) have never heard b) never heard
7....you ... your session exams yet?

a) Have passed b) Did pass

8. James ... three articles this year.

a) published b) has published
9. When I was younger, I ... ice-cream.

a) haven’t liked b) didn’t like

10. We ... all his problems.

a) solved b) have solved

2.22. Complete the following sentences with the correct form of the verb.

. 1...just ... (get) a letter from my parents.

. When ... you ... (meet) Alex for the first time?

... you ever ... (be) abroad?

. When I was younger I ... (not know) how to cook.

. 1... (have) a wonderful time in Thailand last summer.

DW=
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6. Since last year I ... (make) a great success in science.

7. I...never ... (think) about changing my plans.

8. We ... (not see) Kate since October.

9. Mary is happy. She ... (do) the test in English with an excellent mark.

10. She ... (be) good at school so she ... (not have) problems with entrance
examinations.

11. ... you ... (receive) my e-mail yet? — Yes, [ have. I ... (read) it ten minutes ago.

12. Thomas ... (lose) his wallet yesterday and still ... (not find) it.

13.1... (do) everything for Computer Science but I ... (not prepare) the report for
History yet.

14. When ... you last ... play football?

15. ... you ever ... (take) part in the university conference?

Revising Tenses

2.23. Choose the correct variant.
1. Jack ... from the university two years ago.

a) has graduated b) graduates c) graduated

2. My mother is a doctor so she always ... home at nine o’clock.

a) leaves b) leave c) is leaving

3. Where is Ted? — He ... necessary books from the library.

a) takes b) is taking c) take

4. Barbara ... a lot of clothes last week.

a) buys b) has bought c¢) bought

5. I ... all the questions if I have any.

a) am answering b) will answer c) have answered
6. What are you doing tonight? — I ... yet.

a) don’t know b) not know ¢) am not know
7. When ... Joe ... his homework? — Every evening from 6 to 9.

a) is doing b) does do c) will do

8. Excuse me. I ... Professor Green. Have you seen him today?

a) am looking for b) look for c) will look for
9. 1...to Egypt but last year I went to Turkey.

a) was not b) have not been c) am not

10. Did you clean you room? — Yes, ....

a) Iclean b) I do c) I did

11. She ... in London. She lives in Milan.

a) doesn’t live b) don’t live c) didn’t live
12. What countries ... our university cooperate with?

a) 1s b) do c) does

13. My parents ... on holiday next week.

a) go b) went c) are going
14. When Melanie ... in Manchester, she will phone us.

a) arrive b) arrives c) will arrive

23



15. Sarah ... from work half an hour ago.

a) came b) has come c¢) will come
16. Lilly is proud because she ... the competition.

a) won b) wins c¢) has won
17. When I first ... Ann, she was 19 years old.

a) met b) have met c) meet

18. Look! Terry ... to our Rector.

a) talking b) is talking c) talks

19. When ... you last ... a party?

a) have had b) do have c) did have
20. How many times ... you ... this film? — More than three times.
a) did see b) have seen c) do see

2.24. Translate the following sentences.

The students of our group go to the sport club twice a week.

Are you tired? — Yes, [ am. I have done a lot of work today.

Have you visited the university museum yet?

When he was younger, he did not like sport.

Are you doing anything tonight? Let’s go to the gym.

We usually discuss the results of the experiments and plan our work for the next

week.

7. Does Pete work for MICRAN Company? — No, he doesn’t. He is planning to work
there after graduating from TUSUR.

8. Our teacher has taught us how to use the laboratory equipment.

9. Does anybody know the results of the test? I am sure I have done it without any
mistakes.

10. Is Kelly in the hostel? — No, she isn’t. She is visiting her parents.

11. When they finish this experiment, they will get some important results for the
next one.

12. T am very busy today. I have three pairs of lectures and two laboratory works.

13. When I come home from work, I usually have dinner, clean my room and start
doing my homework?

14. When did you last phone your parents? — Yesterday my mother phoned me and
told me about her new job.

15. Look! Somebody has left the telephone. Does anybody know what to do?

16. What time do you usually wake up? — I always wake up before eight a.m.

17. Do you like winter sports? — Yes, I do. I like skiing and skating a lot.

18. Have you read my article yet? — No, | haven’t. I am planning to read it tonight. I
am writing an important report now.

19. What will you do if you don’t pass Physics exam? — I don’t know. I will probably
attend additional lessons.

20.Who wants to take part in the conference? If you write an article you will have a

better exam result.

SN ol e
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2.25. Complete the following sentences on your own.

9.

i A A e

I have never ... .

I am learning English because ... .

I like people who ... .

My group-mates usually ... .

My parents ... at the moment.

When [ was younger, [ didn’t ... .

If I have more free time, I ... .

My friends always ... at the weekend.
In summer ... .

10. Last term we ... .

11. Every day ... .

12. Next week ... .

13. When I come home, ... .

14. When I graduate from TUSUR, ...
15. T always think how to ... .
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UNIT 3

Present Simple Passive and Past Simple Passive Tenses

TENSE ACTIVE PASSIVE
Present Simple | People drink coffee in most Coffee is drunk in most
Tense countries. countries.

We discuss the problems of the The problems of the faculty are

faculty once a month. discussed once a month.
The teachers don’t usually ask I am not usually asked about my
me about my family. family by the teachers.
Do you understand my Are my questions understood?
questions?
Past Simple The students asked Professor Professor Bright was asked a lot of
Tense Bright a lot of questions questions by the students
yesterday. yesterday.
The students didn’t ask Professor | Professor Bright wasn’t asked many
Bright many questions. questions by the students.
Did you send the letters Were the letters sent yesterday?
yesterday?

3.1. Complete the following sentences with the correct form of the verb.

English ... (speak) all over the world.

Physics ... (study) during the whole course of the university.
Our University ... (locate) in the very centre of the city.

The new laboratory ... (equip) with some modern devices.
Mobile phones ... (make) in different countries.

Our university hall ... (clean) twice a day.

The university library ... (visit) by the students of different faculties.
Every lecture the teacher ... (ask) a lot of questions.

9. Coffee ... (grow) in Brazil and Colombia.

10. Cricket ... (play) in Australia.

11. These computers ... (manufacture) in Taiwan.

12. A cinema is a place where films ... (show).

13. Cheese ... (make) from milk.

14. The letters ... (send) every morning.

15. The articles ... (publish) for each conference.

PN B W=

26



3.2.Complete the following sentences with the correct form of the verb.

This methods ... (work out) many years ago.
The latest information ... (summarise) in a scientific journal.
A lot of important questions ... (discuss) during yesterday seminar.
The picture of a well-known artist ... (give) to the local museum.
All the conference diplomas ... (give) to Russian scientists.
We ... (invite) to the restaurant the day before yesterday.
St. Petersburg ... (found) in 1703.
.. (offer) a good job but I refused it.
9. More than fifty papers ... (present) at the symposium.
10. The classroom ... (paint) last month.
11. The letter ... (send) with a wrong address.
12. The recent concept ... (introduce) in 2013.
13. The effect of this phenomenon ... (discover) in the late 1990.
14. A new scientific library ... (open) two weeks ago.
15. This technology ... (develop) by Russian scientists in 1998.

SX’.\‘53\.“":“.‘“!\’.H

3.3.Translate the following sentences.

Moscow was built in the very middle of Russia and is situated on six hills.

The President of Russia is elected every four years.

The information was processed by a computer.

Nothing is done without my help.

Who was the radio invented by?

A lot of mistakes in tests are usually done by students who miss lectures and

practical lessons.

7. This project is done by all the students of our group.

8. The last Olympic Games were held in Sochi.

9. More than a hundred articles were published by the head of our department.

10. The telephone was left in the classroom and nobody has asked about it so far.

11. A lot of political programs are shown on Russian television.

12. Coca Cola is sold in Russia as well as all over the world.

13. The important agreement for computer equipment was signed with our company.

14. A lot of money is spent by the students for food and entertainments.

15. Football is the most popular sport at our university. It is played by students and
teachers.

16. The article was written in English. Can you help me translate it?

17. A lot of flowers and presents were sent for my parents’ wedding anniversary.

18. How many cars are imported from Japan?

19. When was our town founded and who was it founded by?

20. Mathematics is studied during the whole course at the university because it is

very important for every special subject.

SN e
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READING COURSE
UNIT 1

REVISING LEXICS

1.1. Match the words to make an expression.

1. communication a. velocity
2. skilled b. signal

3. wireless c. radiation
4. positive d. system
5. oscillatory €. operator
6. high f. wire

7. to propagate g. communication
8. receiving h. distance
9. to transmit 1. charge
10. to measure J. circuit
11. along k. station
12. electromagnetic 1. waves

1.2. Read the text.
The clockwork radio

Trevor Baylis is an inventor. In 1999 he heard about the problem of bringing health
information to people in rural Africa. Radio was the best way but people had no
electricity and couldn’t pay for expensive batteries. So he invented a radio which
didn’t need mains power or batteries. Instead, it consisted of a spring, gears and a
small generator.

So how does his clockwork radio actually function? As you turn the handle on the
side of the radio, you wind up a spring. It’s the same kind of steal spring used in car
safety belts. It takes 60 turns to wind up the spring filly.

When the spring starts to unwind, the gears engage. There are three step-up gears.
The last step up link is a pulley. Pulleys run more quietly than gears so this reduces
noise. Each time the first gear turns, the generator turns one thousand times. As it
turns, it generates electricity — a voltage of 3V at about 30mA. The spring has enough
power to turn the radio for 30 minutes before you have to wind it up again.

More than two million clockwork radios are in use all over the world. Trevor Baylis
has also invented an “electric shoe”. It charges batteries as you walk.
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1.3. Match the words to make an expression.

1. wireless a. station

2. to transmit b. laboratory

3. receiving C. power

4. negative d. circuit

5. to measure €. communication
6. oscillatory f. a message

7. to equip g. charge

8. electric h. wave

9. radio 1. speed

10. high j. field

1.4. Match the following words with their definitions.

1. battery a. to operate

2. mains b. fully

3. spring c. device that is placed inside a machine to supply it with
electricity

4. to function d. a wheel used to transmit power by means of the chain passing
over its rim

5. to engage e. power supply

6. filly f. to start working

7. pulley g. coiled piece of metal which returns to its original shape when it

is pressed or stretched

1.5. Translate the following sentences from Russian into English.

1.

Al

9.
10.

B naBHue BpemeHa JIOAM  WCHOJB30BalIM JJISI CBSI3U JIBIMOBBIC CUTHAbl U
OapabaHBbI.

A. bann uzo6pen tenedon B 1876 roxy.

CKOpOCTb PNEKTPUUECKUX BOJH paBHA CKOPOCTU CBETOBBIX BOJIH.

DNEKTPUUECKUE U CBETOBBIC BOJIHBI UMEIOT Pa3HYIO JUIMHY BOJIHBI.

VYuenslii wucnonb3zoBan npudbop A nepenadud uHPopManuu Ha OONBIINE
pacCTOsHUSL.

I'. T'epuy cMor oOHApyX UTh paguo BOJHBI Ha PAacCTOSIHUU OKOJO 20 METpOB OT
nepeaTyYnuKa B CBOEH 1abopaTopuu.

A.C. IlonoB npoaeMOHCTpHUPOBaI NEPBBIM paiuoNpueMHuK B 1895 rony.

On Ha3Ban cBoW mnpubOp amnmapaToM s OOHAPYXEHUS U PErucTpaluu
AJIEKTPUYECKUX KOJeOaHMI.

Cy1iecTBYIOT pa3Hble CPEACTBa CBsI3U: TelePoH, Tenerpad, paauo u T. 1.

TepMuH «paauo» O3HAYAET U3JIYYEHHUE BOJH TMEpedalonIed CTaHIUMer, ux
pacrpoCcTpaHeHUE B MPOCTPAHCTBE U MPUEM TPUHUMAIOIIECH CTaHIIUEH.
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REVISING GRAMMAR

Functions of the verbs to be, to have, to do

The verb to be

Function Example
Main verb The device was in the lab.
am ve The device is in the lab.

They are still waiting for him.

Part of predicate Th§ work was ﬁnis.hed ir} time. . ‘
This question is being widely discussed at the seminar now.
Some important problems have been solved.

Modal verb The teacher is to come at five.

1.6. Point out the function of the verb to be in the following sentences and translate

them.

1. Radio is the transmission of signals, by means of electromagnetic waves with
frequencies below those of visible light.

2. PCs are now coming in different shapes, sizes and prices.

3. We are to translate technical literature in the second year.

4. Bluetooth is used to connect and exchange information between devices such as
mobile phones, laptops, personal computers, printers, digital cameras, etc.

5. GSM is a worldwide standard for mobile phones.

6. Monitoring your home and transmitting images via the Web are only a couple of
the things you can do with your Webcam.

7. Our aim is to accomplish this task as soon as possible.

8. The Internet is a revolution in communications.

9. This device was designed by our engineers last year.

10.The new system is to be integrated in all the branches of the chain.

11.Two data signals are to be transmitted over two channels.

12. The team was given satellite phones.
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The verb to have

Function Example
Main verb They have (got) new laboratory equipment.
Part of predicate We have introduced a new system of work.
Modal verb I have to buy another newspaper.

1.7. Point out the function of the verb to have (got) in the following sentences and

translate them.

1. This mobile phone has a battery life of eight hours.

N

Wireless technologies, broadband internet and satellite systems have transformed
the telecommunications industry.

. I often have to create documents and presentations when I’'m away from the

office.

. The price of telecoms services has fallen, on average, by around 30% in the past

decade.

5. This mobile device has GPS so you’ll be able to find your clients easily.

6. The scientist had to stop the experiment.

7. As many GSM network operators have roaming agreements with foreign

9.

operators, users can often continue to use their mobile phones when they travel to
other countries.

Mobile phones have provided wireless connectivity for voice calls and text
messages.

He had to work hard to complete his investigation in time.

10.Televisions have received broadcast content principally via cable, satellite and

radio frequency transmission.

11. Thin and light laptops and ultra-portable designs are the best options when

you have to travel with your laptop.

12. We have got a lot of problems with our new device.
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The verb to do

Function Example

Main verb They do their homework every day.

‘Do you go to work every day?” ‘No, [ don’t.’
‘Does she study at the university?’ ‘Yes, she does.’

Auxiliary verb
ry ‘Did they finish the job yesterday?’ ‘No, they didn’t.’

Substitute Metals conduct electricity better than semiconductors do.

) This device does help them in their work.
Emphasis ‘Why didn’t you translate this article?’ ‘But I did translate it!’

1.8. Point out the function of the verb to do in the following sentences and translate
them.

1 - main verb 2 - auxiliary verb 3 - substitute 4 - emphasis

SMS does (...) have several advantages. It does (...) a very important job. When you
send a text message to a friend, the message does not (...) go directly to your friend’s
cell phone. The advantage of this method is that your friend’s cell phone doesn’t (...)
have to be active or in range for you to send a message. The message is stored (for
days if necessary) until your friend turns his cell phone on or moves into range. SMS

doesn’t (...) overload the network as much as phone calls do (...).

Multifunctional words one (ones), that (those) it

One (ones)

Function Example

Numeral (Number) | One example is enough.

Empty subject One must work hard to get good results.
Empty object This enables one to observe and record all the changes.
Substitute I haven’t got a dictionary. I must buy one.

1.9. Point out the function of the word one (ones) in the following sentences and
translate them.

1. One of the problems has been solved with the help of the electronics in space
communications.
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9.

The new devices have a number of advantages over the old ones.

One must have a very good knowledge of general engineering subjects to become
a good engineer.

It allows one to solve this problem.

One cannot translate such an article without a dictionary in the first year.

I know only one solution of this problem.

He knew that no one could help him.

Our old laboratory equipment was much worse than the new one.

We translated many texts, but there is one more text to translate.

10.Last summer I read many English articles, and my friend read some German ones.
11.0ne must study a lot to become an engineer.
12.A given problem can have more than one algorithm for its solution.

That (those)
Function Example
Give me that textbook, please.
Demonstrative pronoun I like those books.
Substitute The work of the new device is much more efficient than that

of the old one.

Relative pronoun

Spaceships can cover distances that are measured in millions
of kilometers.

Conjunction That he failed in his examination did not surprise anybody.

1.10. Choose the right Russian equivalents of that (those) in the following sentences
and translate them.

N —

N kAW

1 - TOT (Ta, TO) 2-T1e 3 - KoTopbin 4 - TO YTO

That student studies in our group.
Computers are devices that are capable of very rapid and accurate
calculations.
That the Earth is round was unknown for a long time.

(..)
(..)

The simplest materials are those which have only one kind of atoms.

Do you know those girls? They are from our institute.
That computers and robots are important for industrial uses is well
known to scientists and engineers.

(..)
(..
The professor that lectures on mechanics is the dean of our faculty. (...
(..)
(..
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1.11. Replace the words in bold by corresponding substitutes one (ones), that
(those).

1. The day on Mars is a little longer than ... on the Earth.
2. Most countries use units of the metric system and not ... of the imperial system.
3. This control system is more efficient than ... described in that journal.

4.There are many technical journals in our study; the most interesting ... are on that
shelf.

5. The experimental technique was similar to ... described previously.

6.You should use a new method, not the old ... .

The pronoun /t

Function Example
Subject / Object Repeat the experiment. It is very important.
(personal) I’ve read your report. I liked it.
Subject What is this? It is a new device.
(demonstrative)
Subject It is cold in the laboratory.
(impersonal)
Emphasis It was D.I. Mendeleyev who published the Periodic Law of
Elements in 1869.

1.12. Point out the function of the pronoun it in the following sentences and
translate them.

1 - personal subject; 2 - demonstrative subject; 3 - impersonal subject;
4 - personal object; 5 - emphasis

1. Electronics is a young science. It belongs to the twentieth century. (
2. It is the most interesting article on this subject. (
3. It was he who informed us about the results of their work. (
4. The experiment was very difficult but I have done it! (
5. It is expected that software will be cheaper. (.
6. You have written a test. I’ve checked it. (..
7. What is this? It is a new computer. (
8. It is necessary to test these devices. (
9. It is this question that we are interested in. (
10.A material which allows electricity to flow through it is called a (
conductor.
11.Our students study strength of materials. It is a very difficult subject. (.
12. It 1s possible that the problem will be solved. (...
13.Mathematics is studied at all technological institutes because every (
engineer must know it well.
14.1t was in the 20th century that electronic computers appeared. (...)
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Adjectives and adverbs: degrees of comparison

Adjective Comparative Superlative
cheap cheaper the cheapest
large larger the largest
big bigger the biggest
easy easier the easiest
difficult more difficult the most difficult
good/ well (adverb) better the best
bad worse the worst
much (adverb) more the most
many more the most
little (adverb) less the least
far further / farther the furthest / farthest

1.13. Put the adjectives and adverbs into comparative or superlative degrees.

Tom is a ... student than Peter. (good)
This book is the ... of all I have read this year. (interesting)
Her explanation was ... than yours. (clear)
Mathematics is ... for technical students than many other subjects. (important)
This classroom is ... than other classrooms. It is the ... room here. (large)

This instrument is ... than the other one. (efficient)

This article is ... than that one. (easy)

I have ... time for reading than my friend has. (little)

9. Is the word ‘newspaper’ ... than the word ‘book’? (long)
10.Who is the ... student in your group? (attentive)

11.01il is ... than water. (light)

12.My father speaks German ... than English. (well)

13.The building of Moscow University is the ... in the capital. (tall)
14.This article is much ... than that one. (difficult)

PN BB =

1.14. Put the adjectives and adverbs into comparative degree and translate the
sentences.

Model: The higher the voltage, the higher is the electron velocity. (high)
UeM BbIIIIE HAMIPSIKEHUE, TEM BBIIIE CKOPOCTh 3JIEKTPOHOB.

1. The ... the earth, the ... the atmosphere. (near, dense)

2. The ... the mass, the ... the weight of the body. (big)

3. The ... the temperature, the ... is the motion of the molecules. (high, rapid)

4. The ... the number of free electrons in a substance, the ... this substance conducts
electricity. (great, well)
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UNIT 2

REVISING LEXICS

2.1. Match the following English words with their Russian equivalents.

1. device a. Karoj

2. equipment b. mpubdop

3. to flow C. DJICKTPOHHAS JIamIa
4. to conduct d. ucmyckatpb

5. semiconductor €. CeTKa

6. plate f. obopynoBanue

7. filament g. IPOBOAUTH

8. grid h. sanekTpudeckuii TOK
9. frequency 1. aHOT

10. current J. IPOXOIUTh

11. valve k. usmepsTh

12. to consist of l. mens, cxema

13. to emit m. 4acToTa

14. to measure N. COCTOSITh U3

15. circuit 0. MOJIYIIPOBOJJHUK

2.2. Match the words to make an expression.

1. control a. devices

2. metal b. current

3. vacuum c. distance
4. copper d. conductor
5. to conduct e. off

6. to emit f. pulse

7. high g. tube

8. to measure h. transistor
9. pulse 1. wire

10. switch j. electrons
11. electron k. mobility
12.electromagnetic l. charge

13. solid-state m. frequency
14. junction n. grid

15. positive 0. circuit



2.3. Match the words with the same meaning.

1. plate a. carry out
2. tube b. demand
3. number c. anode

4. semiconductor d. common
5. design e. amount
6. space f. solid-state
7. device g. valve

8. require h. invent

9. perform 1. room

10. ordinary J. unit

2.4. Match the words with the opposite meaning.

1.conductor a. waste

2. light b. much

3. little c. heavy

4. save d. impossible
5. upload e. slow down
6. familiar f. cheap

7. attract g. insulator
8. posible h. download
9. accelerate 1. reflect

10. expensive J. unknown

2.5. Fill in the blanks with the following words.

conductor
number triode

emits copper plate electronic gain

negative

communication

. In electric devices current flows in the ... .

.. devices pass the electric current through vacuum.

. In the early years electronic equipment was used for ...
. Filament ... electrons.

. Vacuum tubes are classified according to the ..
. Filament and ... are the main electrodes of the diode.
. Electron has a ... charge.

. The function of the ... is amplification.

. The stream of electrons passes through the ... wire.

. of electrodes.

0. The ratio of the output signal to the input s1gna1 is called the ..
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2.6. Read the text. Match the words from the text with their definitions.

Tunneling is used to alter the placement of electrons in the floating gate. An electrical
charge, usually 10 to 13 volts, is applied to the floating gate. The charge comes from
the column, or bitline, enters the floating gate and drains to a ground.

This charge causes the floating-gate transistor to act like an electron gun. The excited
electrons are pushed through and trapped on the other side of the thin oxide layer,
giving it a negative charge. These negatively charged electrons act as a barrier
between the control gate and the floating gate. A special device called a cell sensor
monitors the level of the charge passing through the floating gate. If the flow through
the gate is greater than 50 percent of the charge, it has a value of 1. When the charge
passing through drops below the 50-percent threshold, the value changes to 0.

1. to alter a. the surface of the earth

2. to apply b. a device that detects light, sound etc. and reacts to it
3. ground c. usefulness or importance

4. barrier d. to change

5. sensor e. to use

6. value f. smth. that prevents or blocks movement

2.7. Translate the following sentences from Russian into English.

B snekTprudeckux mpubopax TOK MPOTEKAET B METAJUIMYECKOM MTPOBOTHUKE.

C camoro Hayana CBA3b ObllIa TJIABHOU LIENBIO 3JIEKTPOHUKHU.

DNEKTPOHHBIE JaMIIbl KJIACCUPUUIUPYIOTCS MO YUCITY JIEKTPOJIOB.

Tpuoa coCTOUT U3 aHOAA, KaTOAA Y YIIPABIIAIOIIEH CETKH.

['maBHast pyHKIUSA TpUOAA — YCUJICHUE.

DJIEKTPOHBI UCITYCKAIOTCA OTPHUIATEIBHO 3apSKEHHBIM KaTOJOM.

AHOJ MMEET NOJIOKUTEIILHBINA 3apsij.

VYpasisronias ceTKa pacnoyioKeHa MEXKIYy aHOJAOM U KaTOAO0M.

DNEeKTPOHHBIE JIaMITbl pa0OTAIOT Jy4llle C BHICOKUM HAMPSHKEHUEM U Ha BBICOKUX

4acTOTaXx.

10.Tpan3ucTopbl MEHbIIIE, JieTye, MOTPEOIAIOT MEHbIIIE YHEPTUM, YEM DJICKTPOHHbBIC
JIAMIIBI.

11.TpaH3ucTOPBI MOKHO UCITOJIB30BATh JJISI BKIIOUCHUS U BBIKJIFOUEHHUS TOKA B IIEIH.

12. Tpan3ucropubie mpuOOPHl 3aMEHWIIA JIAMIOBBIE MPUOOPHI, TaK KaK OHU HMEIOT

MHOT'O ITPEUMYILIECTB.

WXk L=
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REVISING GRAMMAR

Tenses of the Active Voice

2.8. Put the verbs in brackets into the appropriate form.

[

. Modern computers ... cache memory. (include)

. For a programmer it ... time-consuming and tedious to work in machine language.
(be)

. Such speeds ... the rapid solution of the problem. (permit)

. To advertise his travel company he ... a Web site. (set up)

. Mobile phone ... computer as the commonest way to access the Internet now.
(replace).

6. Speech recognition ... probably completely ... other input devices some day.

(replace)

7. The police ... the area for 24 hours. (watch)

8. Global warming ... a change in the world’s climate. (cause)

9

1

[\

| I SN

. The company ... the equipment at the end of the month. (deliver)
0. Now companies ... products that organize information graphically in more
intuitive ways. (develop)
11. Many high-level programming languages ... now universal, varying little from
machine to machine. (be)
12.The hard disk ... data and software programs. (store)
13 I’msure | ... the essay by then. (finish)
14. Demand for the Internet ... very fast. (increase)
15. Our world ... an increasingly complex place, in which we are dependent on other
people or organizations. (become)
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UNIT 3

REVISING LEXICS

3.1. Match the following English words with their Russian equivalents.

1. production a. TmoJie

2. record b. Bocipou3BOIUTH

3. to record C. MUTaTh

4. to reproduce d. perynupoBKka rpOMKOCTH
5. hi-fi €. IPOU3BOJICTBO

6. field f. cHaGxathb

7. conversion g. TUTACTHHKA

8. portable h. BbICOKasi TOYHOCTh BOCIIPOU3BEICHUS
9. to install 1. 3aMMUCHIBATh

10. to power J. mpeoOpazoBaHue

11. to provide k. yctanaBnuBaTh

12. volume control |. mepeHoCHOM

3.2. Match the words to make an expression.

1. record a. unit

2. production b. quality
3. recording C. energy
4. reproduction d. damage
5. laser e. player
6. sound f. beam

7. low g. process
8. high h. phone
9. magnetic 1. speed
10. to convert J. control
11. to install k. process
12. volume 1. fidelity
13. hearing m. level
14. sound n. field
15. mobile 0. equipment



3.3. Read the text. Choose the correct variant to complete the sentence.

Compact disks

A CD consists of a piece of aluminium coated with transparent plastic for producing
sound. It is similar to an ordinary record, but it's read by a laser beam, and the
information recorded on it is digital.

A CD can reproduce the original sound perfectly without any distortion. As the
system is computerized, there is no loss of quality between the studio disk and the
record that you buy. Also, a CD is much tougher than a vinyl record. Dust and dirt
won't damage it, and as there is no contact between the laser and the disk, it will
never wear out.

The CD player produces an audio signal which you can amplify in a conventional
hi-fi system to produce the best sound possible. The new technique is a new exciting
development in hi-fi, connecting sound recording with the computer revolution.

1. A CD is used for producing ... .
a) picture b) audio c) image

2. Laser reads ... information recorded on the disk.
a) digital b) analogue c) ordinary

3. The sound produced by CD is of high quality because the system is ... .
a) electronic b) computerized c) accurate

4. A CD is like to vinyl record in ... .
a) quality b) fidelity c) shape

5. A CD doesn’t wear out because there is ... between the laser and the disk.
a) a good contact b) no contact c) a problem

6. Dust and dirt are not the problem with ... .
a) CD b) ordinary record c) recorder

3.4. Fill in the blanks with the following words.

line loudspeakers the best jump record sound lead
get small poor

The stereo area is the part of the room in which the listener can hear ... sound. Put
the two loudspeakers about two meters apart (more in a very large room, less in a ...
one). Turn them slightly inwards. Now imagine a ... from the centre of each speaker.
Where these lines meet is the stereo area and the best place to sit and listen.
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There are two important points to remember when you are deciding where to put the
rest of the system. First the ... between the amplifier and the record deck should be as
short as possible. A long lead will give ... sound. The leads between the amplifier
and the ... can be as long as you like. Secondly watch out for feedback. This is the
sound that you hear when vibrations from the music affect the record deck. Feedback
can spoil the ... of the record or make the stylus ...

If the sound of your stereo is still disappointing, perhaps you’ve mixed up the leads.
If you accidentally put a left-hand lead into a right-hand socket, you won’t ... a stereo
sound. The quickest way to test your stereo system for this or other problems is to
buy a test ... which will have all kinds of sound tests on it.

3.5. Translate the following sentences from Russian into English.

. Tomac Daucon co3ngan pabouyro mozaens ¢poHorpada.

. OH BCT0JIb30BaJ MPUHIIUII 3aITUCH U BOCTIPOU3BEICHUS 3BYKa.

. Urna aBuranace o 10pokKe Ha (oJibre 1 3anuchiBajia 3ByKHU.

. lludpoBas onTuyeckass cucreMa UCIOJIb3yET JIa3ePHbIN ONTUYECKUM MEXAHU3M.

. KauectBo 3Byka B CD He yxyaiaercsi Ipy UCIOJIb30BaHHH.

. Uudopmarus, 3anucannas Ha CD, siBnsercst udpoBOI M CUUTHIBACTCS JIA3E€POM.
. CD noxo’ Ha BUHWJIOBYIO TIJIACTUHKY.

. Ilepsie MP3 mieiiepbl ObUTH ycTaHOBIIEHBI B MOOUIbHBIE Tenedonbl B 2001 roay.
9. MHorue mieliepbl UMEIOT BCTPOCHHBIN MUKPO(DOH.

10. KHonku MCNONB3YIOTCA 7151 MPOCMOTpa OUOIMOTEKH, BRIOOpA JOPOXKKHU U
BOCIIPOU3BEACHUS 3BYKA.

11.Ecnu BBI cnymiaeTe rpOMKYEO MY3bIKY B TEYEHHE JIOJITOTO BPEMEHH, Y BAC MOT'YT
OBITH MPOOJIEMBI CO CITYXOM.

0O JN DNk~ W -
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REVISING GRAMMAR

Simple Passive Tenses

be + V4,

Tense

Model

Example

Present

am/is/ are + Veys

The work is done every day.

Pabota BbInoIHSIETCS (€€ BHINMOJIHSIOT)
KaxicOblll OeHb.

Past

was / were + Vg

The work was done yesterday.
PaboTa BBINOTHSAIACH (€€ BBITIOJHSIIIN) 6Yepd.

Future

The work will be done fomorrow.

PaboTa OyaeT BbINOJIHATHCA (€€ OyayT
BBINOJIHATB) 3a6Mmpa.

Progressive Passive Tenses

be + being + V_,;

Tense

Model

Example

Present

am/ is / are + being + Vg

The work is being done now.

PaboTa BbInoJIHAETCA (€€ BBINOJIHSIOT) celiuac.

Past

was / were + being + Va3

The work was being done at 5 o’clock / when he
came.

Paborta BbINOTHSIACH (€€ BBIMOJIHSLIN) 8 5 Yacog
/ K020a oH npuuien.

Future

VYnorpebnsercs popma Future Simple

Perfect Passive Tenses
have + been + V_,;

Tense

Model

Example

Present

have / has + + been + Vg3

The work has just been done.

Pabota BbINoIHEeHA (€€ BBIMOJHUIIN) MOJIbKO
umo.

Past

had + been + + Vg

The work had been done by 5 o’clock / before he
came.

Pabota ObL1a BbINOJIHEHA (€€ BHIMOJHUIIN) K 5
yacam / 00 mo2o KaKk OH npuuel.

Future

will have + + been + V43

The work will have been done by 5 o’clock /
before he comes.

Pabota OyneT BbInoIHEeHA (€€ BBIMOJHAT) K 5
yacam / 00 mo2o Kak oH npuodem.
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3.6. Put the verb in brackets into appropriate form.

1. Digital computers now ... for a wide range of personal, business, scientific and

governmental purposes. (use)

The operations of a digital computer ... by logic circuits. (carry out)

Earlier the total memory of the computer ... in thousands of bytes. (measure)

Read-only memory (ROM) cannot ... to. (write)

Random access memory (RAM) ... each time the computer ... off. (lose, turn)

Programs and data that ... currently ... in main storage can ... on secondary

storage. (not use, save)

7. Since computers ... to operate with binary numbers, all data and instructions
must ... in this form. (design, represent)

8. Such mathematical operations as addition, subtraction, multiplication and
division ... by computer circuits. (perform)

9. A digital computer ... to process data in numerical form. (design)

10.Great success ... in space research by now. (achieve)

11.Vacuum tubes ... according to the number of electrodes. (classify)

12.Keyboards and mice soon ... for using personal computers. (not require)

13.Computers produce electronic waste, plastic cases and microchips that have to

..and ... away. (recycle, throw)

14. Another way to access the Internet ... now through the use of a satellite dish.
(introduce)

15.Because transistors use less power and have a much longer life, computers ... a
lot. (improve)

NP LD

Revising Tenses

3.7. Put the verbs in brackets into appropriate form (active or passive).

1. The computer ... to translate a high-level language into machine language.

(program)
2. The program ... for solving this original problem (write)
3. In most computers the moment-to-moment control of the machine ... in a

special software program called an operating system. (reside)

4. The GPS ... by the US military. (develop)

5. Soon most people probably ... in elections online.(vote)

6. The problem .... in a month. (investigate)

7. Demand for the Internet ... very fast. (increase)

8. The CPU controls how fast the computer ... data or information. (process)

9. You should ... your files regularly to avoid losing data. (back up)

10.Speech ... a major component of user interfaces and applications completely

.. to incorporate speech input. (become, redesign)

11.More people ... computers because computer functions ... into other electronic

devices. (use, integrate)
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12.Cache memory ... faster than RAM. (be)

13.The processor ... data in the cache memory first. (look for)

14.Four hackers ... yesterday. (arrest)

15.The house ... when I came. (build)

16.Most computers use instructions that ... in memory.(store)

17.We are at the threshold of new computer era, when artificial intelligence could
... . (invent)

18.A worldwide system of satellites ... and it’s possible to transmit signals around
the globe.(create)

19.Databases store information so that it can ... easily ... . (search)

20.Much attention in the telecommunication market ... to the spectrum of
services. (pay)

3.8. Choose the correct variant.

1. Mobile phones ... for use by emergency services.

a) were developed b) developed c) are developed
2. Finger scanning already ... by large companies.
a) is being used b) is used C) uses
3. Cameras ... by the police and private security companies to discourage crimes.
a) are operated b) are being operated c¢) are operating
4. Some car rental companies already ... GPS to keep track of their vehicles.
a) is using b) are using c) have been used
5. We live in the world where our every move ... .
a) is watching b) is being watched c) is watched
6. Every time we use a credit card or cash card our personal information ...
somewhere.
a) 1s being recorded b) are being recorded  c¢) recorded
7. A young man ... to 5 years in prison yesterday for car theft.
a) is sentenced b) sentenced c) was sentenced
8. The equipment ... in time.
a) is delivered b) was delivered c) deliver
9. Young hackers ... into a local Internet server and ... credit card numbers.
a) have broken/have stolen b)break/steal c) broke/stole
10.A new computer manual ... two weeks ago.
a) is released b) have been released c) was released

3.9. Choose the right English equivalent to the Russian verb.

1. Yto oH gejiaeT B JaHHBLI MOMEHT?

a) do b) does c) is doing
2. Kakyro cucteMy Thl HCIIOJIb3YyellIb B CBOEM KOMITBIOTEPE?

a) use b) are using c) used
3. Buepa B 7 Beuepa s pa3roBapuBaJl 1o teaeQony.

a) was talking b) talked c) had talked
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4. AMepuKkaHCKHE yYEHbIC M300pesin TpaH3ucTop B cepeaune 20 Beka.

a) invented b) had invented c) were inventing
5. Kak kiaccupuumupyroTcsi BAKyyMHBIE JIaMIIbI?
a) is classified b) classify c) are classified

6. BakyymMHble nammbl 10 CHX TOp MCHOJb3YKOTCHA B BBICOKOYACTOTHBIX
nepegaTInKax.
a) are used b) have used c¢) have been used

7. B TpaH3uUCTOpAX NEKTPUYECTBO MPOXOJAUT YEPE3 MEPEXO/I.
a) pass b) passes c) is passing

8. HexoTopble npenmMyIiecTBa cieaaan TpPaH3UCTOpP HE3aMEHUMbBIM.
a) did b) have done c) do

9. BakyymHble Jamnbl ObLIM 3aMeHEHbl Ha TPAH3UCTOPbl B  OBITOBBIX
AIEKTPOHHBIX MPUOOPAX.

a) are replaced b) were replaced c) replaced
10.®onorpad 6b11 u300peTeH B 1887 rony.
a) invented b) had been invented c) was invented
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UNIT 4

REVISING LEXICS

4.1. Match the following English words with their Russian equivalents.

1. set a. MPOBOJUTH

2. to replace b. ToUHOCTH

3. brightness C. HacTpauBaTh

4. to switch d. BIUATH

5. high-definition €. pa3BUTHE

6. ratio f. Harpy3ka

7. development g. pubop

8. to tune h. otHOMmIEHUE, KO3 DUITEHT
9. to carry out 1. 3aMEHSTh

10. load J- APKOCTh

11. to affect k. BpICOKasi TOUHOCTH BOCIIPOW3BEACHUS
12. accuracy |. mepexmrouath

4.2. Fill in blanks with the following words.

facility from band digital downlink transmitted
different strength

Until 2000s broadcast TV programs were generally recorded and transmitted as an
analog signal, but in recent years public and commercial broadcasters have been
progressively introducing ... television broadcasting technology.

The first satellite television signal was ... from Europe to the Telstar satellite over
North America in 1962. The world’s first commercial communication satellite, called
Intelsat, was launched 1n 1965.

Satellite television, like other communications relayed by satellite, starts with a
transmitting antenna located at an uplink ... . Uplink satellite dishes are very large,
as much as 9 to 12 meters in diameter. The increased diameter results in more
accurate aiming and increased signal ... at the satellite. The uplink dish is pointed
toward a specific satellite and the signals are transmitted within a specific frequency

, S0 as to be received by one of the transponders tuned to the frequency range of
the satellite. The transponder ‘retransmits’ the signals back to Earth but at a ...
frequency band, usually in the C-band ( 4-8GHz ) or Ku-band (12-18 GHz) or both.

The leg of the signal path ... the satellite to the receiving Earth station is called
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4.3. Read the text.

Each year teams take part in an international football competition. The teams are
organized into five leagues and the prize is the cup. Not just any cup, but the
Robocup, for the players are all robots. But the objective is the same — to hit a ball
into a goal. The aim of the Robocup is to promote the development of robots which
can work together. Football is a good test of cooperation for any team and the robots
are no exception. Although robot footballers are poor competition for a human team,
each year their performance gets better and each year the standards expected are
raised so that competitors must constantly develop better hardware and software.

A humanoid league will start as soon as there are sufficient two-legged players. The
organizer of the Robocup is confident in the future of robotics. “By mid-21% century
a team of fully autonomous humanoid soccer players will win a soccer game,
complying with the official rules of FIFA, against the winner of the most recent
World Cup” he says.

Other sporting events for robots exist. For example, the British Association for the
Advancement of Science organizes a two-a-side event called Robot Volley Ball. The
players’ task is simply to return a ball within 60 seconds of its being served. The
objective again is to promote the development of robots which can work
cooperatively. The advantages of having robots which can solve a range of tasks
together rather than constructing single expensive robots designed for one task only
are obvious.

4.4. Match up the words which have a similar meaning.

l. team a. play

2. to take part b. to increase
3. football C. group

4. for d. to design

5. game €. aim

6. to work f. to participate
7. to raise g. sure

8. confident h. because

9. objective 1. to operate
10. to construct J. soccer

4.5. Answer the questions to the text.

1. What is the aim of the Robocup?
2. Do robot footballers take part in a soccer game with human players? Why?
3. What are the advantages of designing robots which can work together?
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4.6. Read the text.
Walking robot carries a person

The first walking robot capable of carrying a human was demonstrated in Tokyo,
Japan. Its creators at university in Tokyo and the robotics company Tsmuk hope their
two-legged creature will one day enable wheelchair users to climb up and down and
assist the movement of heavy goods over uneven ground.

The battery-powered robot is made of an aluminium chair mounted on two sets of
telescopic poles. The poles are bolted to flat plates which act as feet. The robot uses
12 actuators to move forwards, backwards and sideways while carrying an adult
weighing up to 60 kilograms. The robot can adjust its posture and walk smoothly
even if the person it is carrying shifts in the chair. At present it can only step up or
down a few millimeters, but the team plans to make it capable of dealing with a
normal flight of stairs.

“ 1 believe this robot, which I prefer to call a two-legged walking chair rather than a
wheelchair, will eventually enable people to go up and down the stairs”, says Atsuo
Takanishi from Tokyo University.

The scientist is sure that multi-legged robots will be more useful than so-called
“caterpillar model” for moving over uneven ground. Robot’s normal walking stride
measures 30 centimeters and it can stretch its legs to 136 cm apart. The prototype is
radio-controlled, but the research team plans to equip it with a joy stick — like
controller for the user in future. The scientist says it will take at least two years to
develop this robot into a working model.

4.7. Match the following words with their definitions.

1. creature a. having a smooth or even surface

2. wheelchair b. not flat or smooth

3. uneven c. a series of steps that go from one level or floor to
another

4. pole d. an imaginary or very strange kind of a thing

5. flat e. a series of stairs going from one floor to another

6. to adjust h. a small creature which is like a worm with many legs

7. stairs g. a chair with wheels which is used by people who can’t
walk as they are injured

8. caterpillar h. to change in order to work better

9. to develop 1. to cause smth to become bigger or more advanced

10. flight j. a long straight piece of wood, metal etc. which is placed

in the ground to stand straight up
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4.8. Translate the following word groups.

robotics company
two-legged creature
wheelchair user
battery-powered robot
radio-controlled model
research team

SN i e

4.9. Translate the following sentences from Russian into English.

1. TlepBsIii TeneBu30p GBLT MpoaeMoHCTpUpoBaH B 1939 rony B Helo Hopke.

2. UepHo-0Oenble KapTUHKU OBLIM IJIOXOTIO KadyecTBa W MEpeAaBaliuCh Ha KOPOTKOE
paccTosiHuE.

3. IIpon3BOACTBO TEIEBU30POB NPEKPATUIIOCH BO Bpems 1IepBoii MUPOBOI BOWMHBI.

4. Ceromusi TeJIEBU3MOHHAS CBS3b 0OECHEUYMBACTCS C TOMOIIBIOD CHUCTEMBI
HMCKYCCTBEHHBIX CITYTHHUKOB 3€MJIH.

5. KabGenbHOe TeneBUICHHE — 3TO CHCTEMA, UCIOB3YIOIasi MPOBOJA JJIsl Mepeiadn
TV nporpamm.

6. B umdpoBoii cucTeMe aHAJOTOBBIM CHUTHAJT 3aMEHAETCS LHUGPOBBIM KOIOM,
coJiepKaiuM HHGOPMAIUIO O IPKOCTH, IIBETE U T.1.

7. HDTV — 310 TeneBuaeHHE C BICOKOM pa3peiaronieil CriocoOOHOCTHIO.

8. Ci10BO poOOT MPOM3OIIIO OT YEIICKOT'0 CJIOBa “robota”, o3Hadaromero padbCKuit
TpyA.

9. PoOoThl pensTCs Ha TpPU TMOKOJEHUS: MPOrpaMMUPYEMbIe, aJalTUBHBIE W
UHTEJUJIEKTyaJIbHBbIE.

10. PoGOTHI 3aMEHSIIOT J1t0JIeld B MOHOTOHHOM U OITacCHOM pabore.

11. TIlpeumymiectBaMu poOOTOB  SIBISIOTCA  BBICOKAs MPOU3BOJUTENIBHOCTD,
YIIy4YlIIEHUE KaueCTBA MPOAYKIUU U T.I.
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REVISING GRAMMAR

Attribute group

4.10. Choose the correct variant.

1. Electron mobility
a) 2IEKTPOH MOOMIIBHOCTH
b) anexkTpoHHas MOOMIIBHOCTD
C) MOJABUKHOCTH SJICKTPOHOB

2. Signal processing
a) CUTHAJIbHBIN MPOoIeccop
b) curnan o6paboTku
c) 06paboTKa curHaia

3. Control function
a) KOHTPOJb (DYHKIIUU
b) byHKIIMS yrpaBIeHUs
C) KOHTPOJIbHOE (DYHKIIMOHUPOBAHUE

4. Atmospheric nuclear explosion
a) atMocepHBII SEpPHBII B3pHIB
b) B3pBIB siI€pHON SHEPTUU
¢) atMocdepa aI1epHOTO B3phIBa

5. Speech recognition
a) pacro3HaBaHUE peuu
b) pedeBoe pacmo3HaBaHUE
C) peub NMpU3HAHUS

6. Consumer electronics
a) MOTPEOUTEb IICKTPOHUKHU
b) moTpebuTenbCcKas JIEKTPOHUKA
C) JICKTPOHUKA MMOTPEOUTENS

7. Audio recording system
a) 3BYKO-3aIACHIBAIOIIAS CHCTEMA
b) 3ByK CUCTEMBI 3aIIUCH
C) ayIMO CUCTEMa 3aIlCH

8. Sound quality
a) KauyeCTBO 3BYyKa
b) 3ByKOBO€ KaueCTBO
C) KaueCTBEHHBIN 3BYK
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9. Artificial Earth satellite
a) UCKYCCTBEHHBIN CITyTHUK 3EMIIH
b) cryTHUK HCKYyCCTBEHHOM 3eMiu
C) HCKYCCTBEHHBI 36MHOU CITyTHUK

10.Flat television screen
a) TUIOCKUM dKpaH TeJIeBU30pa
b) kBapTHpa ¢ TEICBU3MOHHBIM KPAaHOM
C) 9KpaH IJIOCKOTO TEJIEBU30pa

11.Data input
a) JaHHBIC BBOJIA
b) BBOJ TaHHBIX
C) naTa BBOJA

12. Person’s identification code
a) uaeHTU(UKaALUS KOJa YeI0OBEeKa
b) xoa naeHTU(UKAIUY YETOBEKa
C) 4eNIOBEUECKUH KOl MACHTU(PUKAIINT

13.Satellite system
a) CIyTHUKOBAsi CUCTEMA
b) CITyTHHK CHCTEMBI
C) CUCTEMa CITyTHUKOB

14. Laser printer manual
a) py4HOM JIa3epHbIA MPUHTEP
B) JIa3€pHBIN CIIPABOYHUK MO MPUHTEPAM
C) PYKOBO/JICTBO IO MCIIOJB30BaHUIO JIA3€PHOT0 MPUHTEPA

4.11. Choose the best translation.

1. fibre laser
a) BOJIOKOHHBIU Jla3ep
b) na3zepHOE BOJIOKHO

2. industry commentators
a) o0o3peBaTey MPOM3BOJICTBA
b) uHIyCTpHATbHBIE 0003pEBATEIH

3. production building
a) MPOU3BOJICTBO 3/IaHUS
b) 3aaHue 115 TPOU3BOJCTBA



4. measurement equipment
a) U3MEpUTEIbHOE 000pyAOBaHUE
b) uzmepenue obopynoBaHus

S. night vision device
a) TpuOOp HOYHOTO BUACHUS
b) HouHOE H300pakeHHe yCTPONCTBA

6. laser industry market
a) Ja3ep PIHOYHOTO 00OPYI0BAHUS
b) pBIHOK JTa3epHOT0 000PYIOBAHUS

7. laser application centre
a) UEHTp NPUMEHEHHUS J1a3epOoB
b) npumeHeHue Ja3epHOro eHTpa

8. high-quality metal components
a) BBICOKOKQUYE€CTBEHHbIC KOMIIOHEHTHI MeTasia
b) MeTaiibl C BRICOKOKAUYE€CTBEHHBIMU AJIEMEHTAMU

9. production facilities
a) TIPOM3BOJICTBEHHBIC MOIITHOCTH
b) mpou3BOACTBO MOIIHOCTEMH

10.market prices
a) PBIHOK IIeH
b) 11eHBI HA pBIHKE

11.knowledge exchange
a) 3HaHUE OOMeHa
b) oOMeH 3HaHUSAMHU

12.1aser communication technology
a) TEXHOJIOTUSI JTA3ePHOMN CBSI3U
b) cBsI3b 1a3epHBIX TEXHOJIOTHA

13.consumer electronics
a) OBITOBAas ANEKTPOHUKA
b) moTpeduTenpb IAESKTPOHUKHU

14.design support system
a) cucTeMa MOJACPKKU MPOCKTOB
b) IPOEKT CUCTEMBI MOJICPIKKH



15.development path
a) pa3BUTHE TPACKTOPUU
b) TpaekTopus pa3BUTHS

4.12. Translate the following word-groups.

Belgian photonics cluster

laser instrumentation

system engineer

complex design support

new generation information society
delegation members

optical systems design conference
photonics devices

investment group

. surface roughness

. customer service

. optics cameras manufacturer

. apprenticeship programmes

. energy efficiency

. data acquisition time

. power output

. roadside billboard displays

. inspection systems

. halogen units

. fibre lasers use

PN B W=
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Complex sentences

4.13. Translate complex sentences of different types.

PN B LD =

9.

I was working so hard that I forgot what time was.

I know he had done everything before he went to the conference.

The book that I am reading is very interesting.

My boss phoned me yesterday but he didn’t leave a message.

What you mean about this problem is not quite clear.

Who will finish the project depends on the results of this experiment.
Whether these problems are important has to be decided soon.
Whether or not these processes are interrelated has not discovered yet.
The difficulty of distance education is that you must do your best.

10. Everybody knows that one must improve English regularly to speak it perfectly.
11. T am not sure if we will finish the project in time.

12. They want to know what time they have to arrive.

13. He was the first who discovered this phenomenon.

14.The test the students are doing now is very difficult.
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15. No problems can be solved until we combine our efforts.

16. Although this new method is considered to be one of the most important we
shouldn’t forget about some old ones.

17. That the production of computer parts is still expensive is clear to everybody.

18. It appears to be a very exciting time for photonics? As new applications are
emerging all the time.

19. The medical market is among the strongest at the moment because solid-state
lasers are practically good in aesthetic applications, such as hair removal, tattoo
removal and wrinkle treatment.

20. He could complete the paper in time if he had more time.

55



UNIT 5

REVISING LEXICS

5.1. Match the following English words with their Russian equivalents.

1. circuit a. MPEUMYILIECTBO
2. design b. siuelika

3. performance C. 3aBHUCETH OT

4. die d. nerkuii

5. substrate €. Anamna3oH

6. advantage f. cxema

7. band g. HacTpauBaTh
8. lightweight h. mogoxka

9. to depend on 1. TOMEXH

10. interference

11

. to tune

12. cel

J- KOHCTPYKITUS
k. mpon3BOAUTENBHOCTD
1. kpucrann

5.2. Match the words to make an expression.

1. circuit a. strength

2. integrated b. transistor
3. passive c. board

4. manual d. phone

5. discrete e. circuit

6. little f. service

7. frequency g. components
8. telephone h. band

9. to make 1. assembly
10. signal J. centre

11. mobile k. station

12. emergency 1. exchange
13. base m. a message
14. to send n. a call

15. switching 0. power
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5.3. Fill in the blanks with the following words.

depend on computer level passive receive substrate
quickly communications lightweight  to contact

. IC consists of active and ... and components.

. IC 1s manufactured on the surface of semiconductor ... .

. Performance is high since the components switch ... and consume little power.

. Early aerospace projects needed ... digital computers for their control systems.

. Modern computing, communication and transport systems ... the existence of ICs.
. In mobile phone systems all ... take place through a control base station.

. A cellphone can transmit and ... telephone calls in the cellular network area.

. The main switching center contains a ... to select frequencies and control
communication.

9. The MSC knows where to send signals ... each cellphone.

10. If the signal ... is too strong, it will cause interference to other users.

OO\ N B~ W —

5.4. Fill in the blanks with the following words.

binary data advantages analogue represent
speed digital

. transmission has been in use for many years as the basis of telephone technology
and is very effective for this purpose, but it is not so suitable for high-speed
transmission of information. ... transmission consists of electrical pulses
representing data in ..... code as a series of on/off pulses. A number of different
codes exist, some of which are based on a 6-,7-, or 8-bit structure. The codes ...
characters, transmission control signals, information separators, and device control.
Digital technology has a number of ... compared to analogue, including higher
transmission ..., lower incidence of errors, and the facility for mixing data consisting
of voice, image, and text on the same circuit. It is for this reason that ... transmissions
will be increasingly digital in the future.

5.5. Translate the following sentences from Russian into English.

1. MHTerpanpHas cxema COCTOUT U3 aKTUBHBIX U TACCUBHBIX KOMIIOHEHTOB.

2. WuTerpaiibHble CXE€Mbl COOMpPAIOTCS HAa TOBEPXHOCTH TOHKOW MOJJIOXKKUA U
MOJYIPOBOAHUKOBOI'O MaT€pHAIIA.

3. IlpeumymectBamu MC Hajg OUCKPETHBIMU CXEMAaMU SIBJISIFOTCS CTOUMOCTH U
MPOU3BOAUTEIIBHOCTb.

4. TlpousBogutensHoctb WC  BbICOKas, Tak Kak KOMIIOHEHTBI —OBICTPO
MEPEKIIIYAIOTCS U MOTPEOISIOT MaJIO SHEPTHUH.

5. UC saBnsieTcsi OCHOBOM BCEX AIEKTPOHHBIX TPHUOOPOB.
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6. CBsa3p modbp30BaTeledt MOOWIBHBIX TeJIe()OHOB OCYIIECTBISETCS uepes
LHEHTPATbHYIO KOHTPOJbHYIO 0a30BYIO CTAHIIHUIO.

7. Ilpobnemy HEXBAaTKU MOIXOJAIIMX YACTOT MOXHO PEIIUTh C UCIOJIb30BAaHUEM

COTOBOM CETU CBS3H.

YacToThl, UCMOIB3yEMBIE B OTHOM COTE, HE UCIIOIB3YIOTCSA B COCETHEM.

9. Kaxnas cota uMeeT MaJeHbKYIO 3JIEKTPOHHYIO 0a30BYIO CTAHIIUIO, CBSI3AHHYIO
C TJIABHBIM MEPEKIIIOYAIOIIUM LIEHTPOM.

10.I'maBHBIA MEPEKITIOYAIONINN ILIEHTP COJIEPKUT KOMIIBIOTEp [JIsi BbIOOpa
MOAXOMSIIMX YaCTOTaX U JJIsl YIIPABICHUS CBA3BIO.

11.ba3oBas cTaHIMs TOCTOSIHHO KOHTPOJIUPYET YPOBEHb CUTHANA TeledoHa.

*
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REVISING GRAMMAR

Participle |

Aspect Active Passive
Simple translating being translated

coming -
Perfect having translated having been translated

having come -

Form Example
This is an out-of-date translating system. (attribute)
Simple Active | The girl translating the article is my sister. (attribute)

While translating the article the student consulted the dictionary. (adverbial
modifier)

Perfect Active

Having translated the article I went to the University. (adverbial modifier)

Having come home I wrote a letter to my friend. (adverbial modifier)

Simple Passive

The property depends on the materials being used. (attribute)

Being invited to the conference he left for Moscow. (adverbial modifier)

Perfect Passive

Having been translated the article was sent to the journal. (adverbial
modifier)

Participle Il
Functions Examples
A written letter was on the table.
Attribute
The device used is very reliable.
This problem remains unsolved.
Part of predicate

The article was translated by my colleague.

Adverbial modifier
(Participle
construction)

(When) given some time to think he always answered well.
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5.6. Choose the correct form of the participle.

1. Each cell has a small base station ... in a public place.
a) situated b) being situated c¢) having situated

2. The main switching centre (MSC) is connected to other MSCs and to the public
telephone exchange, ... cell phones to make or receive calls from other cell phones or
fixed telephones.

a) being allowed b) having allowed c) allowing

3. The size of cells varies ... on the output power of the cell phone transmitter.
a) having depended b) depending c¢) depended

4. The work ... is of great importance.

a) done b) doing c¢) having done

5. ... doing his homework, he was allowed to go for a walk.

a) Having finished b) Finished c¢) Having been finished
6. ... computer games you must remember the time ... .

a) playing, consumed  b) played, consumed c¢) being played, consuming
7. He told us about the problem ... .

a) solved b) solving c¢) being solved

8. ... aregistration card, he couldn’t go to the library.
a) Lost b) Having lost c) Losing

9. ... an unknown text it is better to write down new words.
a) Translated b) Translating c) Being translated

5.7. Form an appropriate participle from the verb given in brackets.

1. He has a GPS (Global Positioning System) ... in his car. (fit)

2. Peripherals are physical units ... to the computer. (attach)

3. A computer is a system ... of five distinct elements: a central processing unit,
input devices, memory storage devices, output devices and a communication
network ... a bus. (compose, call)

4. Cybercrime, crime ... with the help of computers is creating serious problems.
(commit)

5. Some computers have smart card readers ... you to buy things on the Web
easily and safely with digital cash. (allow)

6. A student ... artificial intelligence wants to write some programs for a course
project. (study)

7. A hub is an electronic device ... all the data cabling in a network. (connect)

8. A router 1s a special computer ... messages when several networks are linked.
(direct)

9. A network is a number of computers and peripherals ... together. (link)

10.Her house has a network, ... basic file-sharing and multi-player gaming.
(allow)

11.The house has a electronic door-keeper ... to recognize you, ... access to
family only. (program, give)
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UNIT 6

REVISING LEXICS

6.1. Match the following English words with their Russian equivalents.

1. data a. BBITIOJIHATH

2. to process b. 3aMeHSATh

3. to perform C. KJIaBHaTypa

4. calculations d. o6pabaThiBaTh

5. programmer e. uHdopmanus

6. to replace f. MapuipyTuzarop
7.reliable g. MporpaMMHoe obecrieyeHue
8. to store h. BeruncIeHus

9. keyboard 1. XpaHUTD

10. hardware J. anmapaTHoe o0ecrieyeHue
11. software k. Han&xHBIN

12. router l. mporpammuct

6.2. Match the words to make an expression.

1. personal a. disk

2. numerical b. display

3. punched c. supply

4. data d. computer
5. recording €. Instructions
6. transistor f. calculations
7. power g. unit

8. disk h. card

9. hard 1. drive

10. storage J. equipment
11. program k. processing
12. visual 1. device

6.3. Read the text. Match the following words from the text with their definitions.
Flash memory

The electrons in the cells of a Flash-memory chip can be returned to normal (“1”) by
the application of an electric field, a higher-voltage charge. Flash memory uses in-
circuit wiring to apply the electric field either to the entire chip or to predetermined
sections known as blocks. This erases the targeted area of the chip, which can then be
rewritten. Flash memory works much faster than traditional EEPROMs because
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instead of erasing one byte at a time, it erases a block or the entire chip, and then
rewrites it.

You may think that your car radio has Flash memory, since you are able to program
the presets and the radio remembers them. But it is actually using Flash RAM. The
difference is that Flash RAM has to have some power to maintain its contents, while
Flash memory will maintain its data without any external source of power. Even
though you have turned the power off, the car radio is pulling a tiny amount of
current to preserve the data in the Flash RAM. That is why the radio will lose its
presets if your car battery dies or the wires are disconnected.

1. chip a. physical force or strength

2. block b. a device that is placed inside a machine to supply it with
electricity

3. to program c. a very small piece of silicon in a computer that contains many
electronic circuits

4. power d. to give a computer a set of instructions to perform a particular
action

5. contents e. switch off

6. source f. section, unit

7. turn off g. the things that are in smth

8. battery h. smth that provides what is wanted or needed

6.4. Translate the following sentences from Russian into English.

1. KomnbeioTep - 3TO 3JEKTPOHHBIM MOpUOOP, KOTOPHIA BBIMOIHSIET CIOXKHBIC
BBIYUCIICHUS U 00pabaThIBaET JaHHBIE C OOJIBIION CKOPOCTHIO.

2. KoMIbroTepbl MOXKHO UCIIOIb30BaTh KaK 00y4Yarolire MalluHBbI.

3. Onepatop BBOAUT WMHCTPYKILWH U JAHHBIC YE€pPE3 YCTPOMCTBO BBOAA.

4. 3anoMHHaroIIee YCTPOUCTBO MOJIyYaeT HHPOPMAITUIO U XPaHUT €€.

5. Bce nannbie B IU(PpOBBIX KOMIIBIOTEpAX MPEACTaBICHBI ITU(paMH.

6. O6paboTaHHbBIC TaHHBIE OTOOpPAXKAIOTCS HA DKpaHe.

7. KoMOBIOTEPHI LIKPOKO UCIIOIB3YIOTCS B HAIEW KU3HH.

8. KnaBuarypa - camoe mpocToe u pacipoCTpaHEHHOE YCTPOMCTBO BBO/IA.

9. B 60-¢ roJibl TPaH3UCTOPHBIE KOMITBIOTEPHI 3aMEHUIIN JJAMIIOBBIE YCTPOMCTBA.

10. TpaH3uCTOpHBIE KOMITBIOTEPHI MOTPEOIISIIA MEHBIIIE YHEPTUU U ObLITH OoJiee
HaJIe’)KHBIMU, YEM JIAMIIOBBIE.
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REVISING GRAMMAR

Gerund

Gerund forms

Aspect Active Passive
Simple trapslatmg being translated
going _
Perfect hav%ng translated having been translated
having gone —

6.5. Form a suitable form of gerund from the verb given in brackets.

1.

RENVS)

0 3 O\

9

An optical CPU is capable of ... trillion discrete operations per second or it is as
fast as the speed of light. (execute)

. I improve photos in my computer by ... a few touches and then save them on a

CD. (make)

. Ienjoy ... at music portals on the Web. (look)
. Citizens may feel a loss of privacy because of ... unwanted electronic messages.

(receive)

. A young hacker was fined 1,000 after ... an offence. (admit)

. ... Into a system is strictly illegal nowadays. (hack)

. After ... from university you can get a technical role in a company. (leave)

. It is worth ... for a training course if you get serious about your career. (pay)

He is reasonable for ... and ... the software. (develop, implement)

10. You get the satisfaction of ... that you passed a tough test. (know)
11. GPS can be used for ... the navigation of ships. (aid)
12. ...the computer resources is an important function of the operating system.

(manage)

13. ...large amounts of information or data quickly is the most important function of

the computer. (process)
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Gerund functions

Function Example

Subject Reading English papers is necessary for every engineer.

Part of predicate His favorite occupation is reading.

Object He likes reading.
He is thinking of reading his report at the
conference.

Attribute I like his way of reading.

After reading the article he made a short summary of it.
Adverbial modifier (= having read — npuuactue I)
By reading much we learn much.

Gerund and Participle |

Function Gerund Participle 1

Subject Driving a car is a profession. —

Part of predicate His hobby is driving. He is driving to Moscow.

Object He writes articles about driving. -

Attribute His plan of driving to Moscow | The man driving a car is our chief
is not good. engineer.

Adverbial modifier | Before driving a car one must Driving a car a man tries to keep
learn to do it properly. steady speed and watch the car in

front of him.

6.6. Translate the sentences and choose the right variant. Pay attention to the
functions of the gerund and participle I.

1. Measuring temperature is necessary in many experiments.

a) Nsmepss b) U3mepenue ¢) Uzmepsronuii
2. Making this experiment they came across some very interesting phenomena.
a) [lenan b) IIpoBenenue c¢) Henaromuit
3. The engineer insisted on experimenting as the best method to solve this problem.
a) DKCIIEPUMEHTHI b) DkcnepuMeHTUpYS C) DKCrepUMEHTAJIbHBIN
4. Solving such problems helps us greatly.
a) Pemras b) Pemaromuii c) Pemenue
5. Applying the method we get better results.
a) [Ilpumenenue b) Ilpumenss c) [Ipumensironuit
6. Saving your work on a computer is of great importance.
a) CoxpaHss b) Coxpansrommit c) CoxpaHeHue
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6.7. Translate the following pairs of sentences. Point out what parts of speech the
words in bold are: gerund or participle I.

1.

Overcoming these difficulties is not so easy as it may seem.
Overcoming these difficulties the designers can increase the fuel efficiency.

Setting a problem the scientist makes the first step to its solution.
Setting a problem is the first step to its solution.

. Covering the distance between Tokyo and Moscow in less than two hours

this superliner develops a speed five times above the speed of sound.
Covering the distance between Tokyo and Moscow on board a superliner
requires about two hours.

Putting the discovery into practice the engineers will solve a complicated
technological task.

Putting the discovery into practice sometimes requires more effort than
making it.

He persisted in trying to solve that difficult problem.

Trying to solve that difficult problem he came to an interesting conclusion.

Using the new method has brought very good results.
Thousands of scientists using the most modern equipment are studying the
atmosphere.

A fax machine is used for sending and receiving copies of original
documents via a phone line.
Don’t forget to write down your address when sending a letter.

Joystick is an input device especially helpful in playing computer games.
They are playing computer games now.
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UNIT 7

REVISING LEXICS

7.1. Match the following English words with their Russian equivalents.

1. navigate a. TOCTyII

2. aerial b. koMnuIATOp

3. network C. IBOMYHBIN

4. access d. nepeaBurarhcs
5. up-to-date €. CeTh

6. to display f. ¢ moMorkIo

7. advantage g. IpeoOpa3oBbIBATH
8. compiler h. antenna

9. instruction 1. oTOOpaXxkaTh

10. binary J. KOMaHaa

1. to convert k. mpenmyIiecTBo
12. by means of 1. coBpemeHHbII

7.2. Match the words to make an expression.

1. networking a. code

2. to surf b. intelligence
3. dish c. technology
4. to avoid d. engineer

5. telephone e. language
6. communication f. satellite

7. machine g. lines

8. portable h. Internet

9. programming 1. interference
10. software J- aerial

11. artificial k. program

7.3. Fill in the blanks with the following words.

to talk to little global compiler high-level resources
directly links modem cables

1. The Internet is a ... system of interconnected computer networks.

2. The internet carries a vast range of information ... and services.

3. Hypertext is the text that contain ... to other documents.

4. Internet Video conferencing programs enable users ... and see each other.
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5
6
7
8
9

. Networks can be linked together by telephone lines or fiber-optic ....

. The cables require ... physical space and they are safe.

. Computers are connected by means of a ... to ordinary telephone lines.

. Programming languages are classified into low-level and ... languages.

. Computers can’t work ... with a program written in high-level language.

10. Programs written in a high-level language are converted into a program written in

a

7

[

W

8.
9.

1

low-level language by means of ... .

4. Translate the following sentences from Russian into English.

. UaTepnHeT — 3T0 riobanbHas cUCTEMa, CBSI3AHHBIX MEXKIY COOOM KOMIbIOTEPHBIX
ceTeil.

. Uepe3 MHTEPHET MOXKHO MOJYYUTh JIOCTYH K JIIOOBIM MaTepualiaM, KOTOPbIE Bac
MHTEPECYIOT.

. Bpay3ep — 3To nporpamma, KoTopasi IOMOTraeT BaM HalTH JIt00y10 HHPOPMAIIHIO.
[IporpaMmma B pexxume BHJIEO KOH(PEPEHIMH TOMOraeT I0JIb30BaTEesIM

pasroBapuBaTh U  BUJIETbH APYT JApyra.

. Cetu MOTYyT OBITH CBSI3aHBI MEXK]1Y COOOM C MOMOINIBIO TENEPOHHBIX MPOBOJIOB WIIH
BOJIOKOHHO-ONITHYECKOT0 Kades.

. CoBpeMeHHbIE CUCTEMbl MCIOJIb3YIOT BOJIOKOHHO-ONTUYECKUN Kabesb, TaK KakK y
HETr0 MHOT'O TPEUMYILIECTB.

. Kommnbiorep He MoxkeT paboTaTh HEMOCPEACTBEHHO C MPOrpaMMOM, HaNMCaHHOU

Ha S13bIKE BHICOKOT'O YPOBHSI.

MamuHHBIN S3bIK — 3TO SI3bIK HU3KOT'O YPOBHSI.

[IporpamMmmupoBaHue — 3TO HAMKUCAHUE MOAPOOHBIX UHCTPYKIUH ISl MALIUHBI.

0. S3blkM TporpaMMHpOBaHUSI JENISATCA Ha SI3BIKM BBICOKOTO YPOBHS U SI3BIKU
HHU3KOTO YPOBHS.
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REVISING GRAMMAR

Infinitive

Infinitive forms

Aspect Active / Passive Passive

Simple | to help
to be helped

I am glad to help him. — I pag nomoub emy.

I am glad to be helped. — 5 pan, uTo MHEe mOMOraoT.

Perfect | to have helped

I am glad to have helped. — I pan, uto momor emy.

to have been helped | I am glad to have been helped. — S pax, uto MHE HOMOTJIH.

Infinitive functions

Function Example

Subject To translate articles is difficult.

His task was to translate the article in time.
Part of predicate He can translate articles.

He will translate this article next week.

He likes to translate technical articles.
Object

I am glad to have translated this article.

He was the first to translate the article.
Attribute Here is the article to translate.

Here is the article to be translated.

He went home to translate the article.
Adverbial modifier . )

To translate articles you must know English well.

7.5. Complete the following sentences with the correct infinitive forms, as in the
model. Pay attention to the functions of the infinitive.

Model: He was the first to translate this text. (mepesen; to translate)

1. ... this experiment will not take much time. (3aBepienue; to complete )
2. He hates ... . (koraa ero npepbIBaloT; fo interrupt)
3. ... computers more reliable transistors were used. (ust Toro (4ToOBI)

W3TOTOBUTS; o make)

4. The information

... 1s taken from the journal. (kOTOpy10 HY’KHO HCHOJB30BAThH
/ KoTopas OyJIeT UCIOIb30BaHa; fo use)
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5. We must have all the data ... the right answer. (uTo0s1 nath; to give)

6. ... this work one must have all the necessary equipment. (/s Toro 4ToObl
BBITIOJTHUTG / {7151 BBITIOTHEHUS; to perform)

7. 1 am happy ... . (4To MeHs Harpaaunu; to award)

8. ... an experiment of this kind seems nearly impossible. (ITpoBenenue /

[Iposectu; to conduct)
9. Tamglad ... ... this important experiment. (4To 3aKOHYWIT; to finish)

10.Telecoms companies were among the first ... their customers facilities such as
Internet access or mobile telephony. (nmpenocraBuiu; fo give)

11.A problem ... by a digital computer must be expressed in mathematical terms
that the computer can work with. (kotopast Oyzer penieHa / KOTOpYIO HYKHO
pelInTh; fo solve)

12. Tam ready ... it for you. (cnenars; fo do)

13.Analytical engine was invented ... data. (nyst coxpaneHusi / 4TOObl COXPAHSATD;
to store)

14. ... a message requires some energy. (Ilepenaua / Ilepenats; to transmit)
7.6. Change the following complex sentences according to the model and translate
them.
Model: This scientist was the first who developed the new process.
This scientist was the first to develop the new process.

The engineer was the last who made the report at the conference.
The famous scientist was the first who proved this theory.

These metals were the first that were used in industry.

These devices were the first that were tested in our laboratory.
This radio station was the first that was built in our country.

Al e

7.7. Change the following complex sentences given below according to the model
and translate them.

Model: The method that will be used was developed in our laboratory.
The method tobeused  was developed in our laboratory.

. The method which will be used is reliable.

. The results which will be received will be published next month.

. The data that are to be obtained will be of great interest.

. The measurements that must be made should be accurate enough.

. The experiments which will be demonstrated are closely related to our
research.

. The problem that must be solved is very difficult.

. The work that must be done is of great importance.

. The process to be described in this article is known as ionization.
. The equipment that is to be installed is very effective.

0. The instrument which will be used must make precise measurements.

[, I S S T NS I

=0 00 3
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UNIT 8

REVISING LEXICS

8.1. Match the following English words with their Russian equivalents.

1. routine a. pa3pylIUTEIbHbINA

2. to run b. ctupath

3. payload C. pe3epBHas KONus

4. destructive d. mpectynnenue

5. to replace €. mporpamMma

6. firewall f. oToOpaxathb

7. harm g. 3aIycKaTh

8. to display h. Bpen

9. to delete 1. IoJie3Has Harpy3Ka
10.software J. mporpamMmMHoOe o0ecrieyeHue
11. backup k. 3amuTHOE YCTPOHCTBO
12. crime 1. 3ameHsTh

8.2. Match the words to make an expression.

1. reproduction a. security
2. to run b. data

3. to take c. supply

4. information d. hardware
5. encrypted e. firewalls
6. computer f. routine

7. to stay g. measures
8. to press h. file

9. to delete 1. keyboard
10. to protect J. program
11. to install k. resident
12. power 1. virus

8.3. Fill in the blanks with the following words.

decryption information vital provide encryption limited
encoding competitors passwords
Cryptography

From e-mail to cellular communications, from secure Web access to digital money,
cryptography is an essential part of today’s ... systems. The only way to protect a
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message 1s to encode it with some form of ... . Data encryption is very important for
network security, particularly when sending confidential information. Encryption is
the process of ... data so that unauthorized users can’t read it. ... is the process of
decoding encrypted data transmitted to you. The most common methods of protection
are ... for access control, encryption and decryption systems, and firewalls. Firewall
is software and hardware device that allows ... access to an internal network from the
Internet.

Cryptography helps ... accuracy and confidentiality. It can prove your identity or
protect your anonymity. It can prevent vandals from changing your Web page and
industrial ... from reading your confidential documents. And in the future, as
commerce and communications continue to move to computer networks,
cryptography will become more and more ...

8.4. Translate the following sentences from Russian into English.

I. KomnberooTepHBIA BHpPYC — 3TO MaJ€HbKass MpOrpamma, KOTOpas 3apakact
KOMITBIOTEPHYIO CHCTEMY.

2. Bupyc MOXET COJIEPKATh MOJE3HYIO HArPy3Ky, KOTOpask OCTAETCA HEAKTUBHOMU /10
TEX MOP, MTOKa MOJIb30BaTENb HE HAXKMET HA ONPEACICHHYIO KHOMKY.

3. Ilone3nass Harpy3ka MOXKET ObITb O€3BpPEAHOM, KOTJa, HalpuMep, Ha HKpaHe
0TOOpaXKarOTCs COOOIIICHHUS.

4. Tlone3nass Harpy3ka MOXET OBITb M pa3pyUIUTEIBHOM, KOIJA, HAMpPUMEpP, C

KECTKOTr0 JUCKA yAAIStoTCs (hailiibl.

[IporpamMma Bocipou3BeI€HHS KOMMUPYET €05 B APYTHE MPOrPAMMBI.

TpostHCKMIA KOHb — 3TO MpOrpamma, KOTopas MMEET IMOJE3HYI0 Harpy3kKy, HO HE

MMEET MOAIPOTPAMMY BOCHPOU3BEACHHS.

7. UToOBI 3aIlIUTUTH aNllapaTHOE U MPOTpaMMHOE 00ecTieYeHUE, Bbl JOJIKHBI IPUHATD
Mepbl 0€30MaCHOCTH.

8. [IupaTcTBO — 3TO HE3AaKOHHOE KOMMPOBAHUE MPOrPAMMBbI JUUTS IIPOIAKH.

9. Tlpupona KOMIBIOTEPHOTO MPECTYIUICHUSI TAKOBA, YTO €0 TPYJHO OOHAPYKUTh.

10. BonpmMIMHCTBO KOMIIBIOTEPHBIX MTPECTYILUIEHUN PACKPBIBAKOTCS CIIYyYAHO.

ARG
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UNIT 9

REVISING LEXICS

9.1. Match the words to make an expression.

1. light a. regenerator
2. glass b. protection
3. signal c. information
4. carrier d. performance
5. electrical €. communication
6. light-wave f. pulse

7. telephone g. fiber

8. copper h. system

9. to require 1. technology
10. to increase J. conversation
11. optical k. cable

12. to record 1. signal

9.2. Match up the words which have an opposite meaning.

1. rapid a. dielectric
2. conventional b. to worsen
3. to improve c. alot of
4. increase d. to receive
5. to transmit e. unusual
6. thin f. weak

7. conductor g. decrease
8. single h. thick

9. powerful 1. slow

10. little J. attached

9.3. Match the following words with their definitions.

1. to transmit a. relating to information that is stored in the form of
binary code

2. sophisticated b. one having the same function or characteristics as
another

3. to install c. to send information in the form of electrical signals to a
radio, TV, etc.

4. enormous d. to set up for use or service

5. capacity e. the act of talking in an informal way

6. digital f. highly developed and complex
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7. to undermine g. to make smth weaker or less effective

8. conversation h. the largest amount or number that can be contained,
volume
9. counterpart 1. extra ordinarily great size

9.4. Fill in the blanks with the following words.

integrated generation computing photons parallel
basis Cross convert radically

Not long ago the scientists demonstrated their experimental ... machine based on
optics. It took them five years to develop it. The device — a collection of lasers, lenses
and prisms — can serve as the ... for future optical computers 100 to 1,000 times as
powerful as today’s most advanced supercomputers. The potential applications are
remarkable: robots that can see, computers that can design aircraft, processors that
can ... spoken words into written text and vice versa.

Many scientists are predicting that the device will have an impact similar to that of
the ... circuit which made small personal computers possible.

, the basic unit of light beams, can in theory be much better than electrons for
moving signals through a computer. First of all, photons can travel about the times as
fast as electrons. And while electrons react with one another, beams of photons which
have no mass or charge can ... through one another without interference. Thus,
photons can move in free space. This could open the door to ... new and different
computer designs, including so-called ... processors that could work on more than
one problem at a time instead of one after another, as today’s new ... computers do.

9.5. Translate the following sentences from Russian into English.

1. OnTuyeckue CUCTEMBI CBSI3U ABISAIOTCS 3O (PEKTUBHBIMU U YHUBEPCATIBHBIMHU.
2. OnHu nepenaroT OrpOMHOE KOJIMYECTBO MH(OpMalnK Ha OOJbIINE PACCTOSHUS
32 HECKOJIBKO CEKYH/I.

[IpeuMyniecTBaMu CTEKJIOBOJIOKHA SIBISIIOTCSI KX pa3Mep, Bec.

OnTruuyeckue BOJIOKHA HE MOJIBEPKEHbI HHTEP(DEPEHITUH.

CBeT BcTpeyaeT MajieHbKOE COMPOTUBJICHUE, KOTJa TPOXOAUT MO
CTEKJIOBOJIOKHY.

OObIuHbBIEC CUCTEMBI TPEOYIOT OJMH PEreHEPATOP CUTHAJIOB HA OJHY MUIIIO.
KomnakT nucku AenaroT U3 MIacTUKa, MOKPBHITOTO aTFOMUHUEM.
Nudopmanus, 3anucannasi Ha JUCKE, SIBIASIETCS LHUPPOBOIA.

. Madopmanus 3aucbIBaeTCsl U CYUTHIBACTCS JIA3€POM.

0 OnTruyeckue TEXHOJIOTMU HAXOASIT HOBbIE MPUMEHEHUS KaXbIi 1eHb.

kW

S0P
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REVISING GRAMMAR

Absolute Participle and Gerund Constructions

Absolute Participle | Construction

Form Example

Simple Active | My brother translating the article, we couldn’t go home.
Tak kak Moif OpaT nepeBoOANJI CTATHIO, Mbl HE MOTJIM MIOWTH TIOMOM.

Perfect Active | My brother having translated the article, we went home.
Koraa OpaTt nepeseJ cTaTbl0, Mbl IOILJIN TOMOM.

They worked hard, the articles being translated into English.
Simple Passive | Onu MHOro pabotanu, NpuYeM CTATbH OBbLIM NepeBeleHbl Ha
AHIVIMHCKHMH SI3BIK.

The translation having been done, I gave it to the teacher.
Perfect Passive | Ilocie Toro kak nepeBoj ObUT BBITIOJIHEH, S CAAJ €r0 MPETo aBaTelIio.

9.6. Choose the Russian equivalents of the English sentences containing the
absolute participle constructions.

1. D. Mendeleyev having arranged the elements in a table, the existence of
yet unknown elements could be predicted.

a) [locne Toro kxak [I.M. MenzaeneeB pacmnoiioXWi XUMHUYECKHE BJIEMEHTHI B
Ta0JIMIIe, CTaJIu U3BECTHHI BCE DIIEMEHTBHI.

b)Ilocne Toro kax JI.M. MenzaeneeB pacmoyioKUI XHMHUYECKHE 3JIEMEHTHI B
TabnMIe, CTajlo BO3MOXHBIM IpEACKa3aTh CYIIECTBOBAHUE TOrAa €IlIe
HEHU3BECTHBIX DJIEMEHTOB.

c) To uto JI.M. MeHneneeB pacmoyiOXKUI XUMHUUYECKUE SJIEMEHTHl B TaOIHIlE,
ITO3BOJINJIO TIPEACKA3aTh CYIIECTBOBAHUE TOT1A €II[€ HEU3BECTHBIX JIEMEHTOB.

2. The CPU controls the operation of the entire system, commands being

issued to other parts of the system.

a) To 4TO uUEHTpadbHBIA NPOLIECCOPHBIA OJIOK YIpaBiseT padoToil Bcel
CUCTEMBbI, TTO3BOJIUIIO MOCHIIATh KOMAHbI K APYTUM YaCTAM CUCTEMBI.

b) LlenTpanpHBI TPOIECCOPHBIA OJIOK yIpaBisieT pabOTON BCEW CHUCTEMBI,
MIPU ATOM KOMaH/Ibl OCHUIAIOTCS K IPYTUM YaCTSIM CUCTEMBI.

c) llenTpanbHbiii TpolieCCOPHBIA OJOK yIpaBiseT padOTOl BCell CUCTEMBI,
MOChLIAsi KOMAH]IbI K IPYTUM YaCTSIM CUCTEMBI.

3. The conference being over, they went home.

a) OHHU MOUUIN ATOMOM MOCJIEe OKOHYaHUsI KOH(EPEHIINH.
b) KondepeHnnus 3akoHUMIACh, U OHH TIOIIUTH JOMOM.

c) Kornma xoHdepeHus 3akOHUMIIACh, OHU MOIIINA JIOMOM.
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4. The engineers having tested this device, we can use it.

a) Ilocne TOro Kak MHKE€HEPBI UCIIBITAIOT ATOT MPUOOP, MBI CMOKEM €TI0
UCIIOJIb30BAaTh.

b) Ilocne Toro Kak UHKEHEPHI UCTIBITANIA ATOT TPUOOP, MBI MOKEM €r0
UCIIOJIb30BAaTh.

¢) MuxeHepbl HCHBITATIM 3TOT IPUOOP, MO3TOMY MBI MOKEM HUCIIOIB30BATH €TO.

5. Any moving object is able to do the work, the quantity of kinetic energy
depending on its mass and velocity.

a) Jlroboe pABWXKymIeecs TeJO CIOCOOHO CcOBepuIaTh padoTy, NTpU ITOM
KOJIMYECTBO KMHETHYECKOW SHEPTHH 3aBUCHUT OT MAacChl U CKOPOCTH.

b) Konu4yecTBO KMHETHYECKOW HSHEPTHUH 3aBHCHT OT MacChl U CKOPOCTH IIPHU
paboTte a1000T0 ABWKYILETOCS Tea.

c) Jlroboe nBmXKyleecss TeNO CIOCOOHO COBEPIIUTH pPaboOTy, HpPH KOTOPOH
KOJIMYECTBO KHHETHYECKOW SHEPTHH 3aBUCHUT OT MAacChl U CKOPOCTH.

6. The work having been done, they decided to have a rest.

a) OHH penIuian OTI0XHYTh MOCTIe TOro, Kak padoTa Oblia c/eliaHa.
b) OnHu pemniiu OTAOXHYTb MOCJE TOT0, KaK caeiain padorTy.

c) Pabora Opuia caenana, 1 OHU PEeIMIN OTAOXHYTh.

9.7. Match the Russian sentences containing the absolute participle constructions
with their English equivalents.

1. lMockoabKYy  3JieMEHTBI  00J1aJal0T  HEU3BECTHBIMH  CBOWCTBaMH,
IKCIIEPUMEHTHI ¢ HUMH HEBO3MOKHBI.

a) The elements, having unknown properties, cannot be used for experiments.

b) The elements have unknown properties, experiments with these elements being
impossible.

c) Having unknown properties, the elements cannot be used for experiments.

d) The elements having unknown properties, experiments with them are
impossible.

2. Koraga cBo0oaHbIe 3J1€KTPOHBI NMPOXOAUT 4Yepe3 NPOBOJHHK, BO3HMKAET
3J1eKTPUYECKHUH TOK.

a) When passing through a conductor free electrons form an electric current.

b) Free electrons passing through a conductor, an electric current is generated.

c) Free electrons pass through a conductor, an electric current being generated.

d) Free electrons passing through a conductor form an electric current.

3. Koraa mogawTcsi KOMaH/Abl, YCTPOMCTBO YNIPaBJIeHUS 3aCTABJISIET Apyrue
YCTPOIiCTBA BHINOJHATH HEOOXO0AUMYIO ONEPAIHIO.

a) Instructions being obtained, the control unit causes other units to perform the
necessary operation.
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b) Instructions are obtained, the control unit causes other units to perform the
necessary operation.

c) Having obtained the instructions, the control unit causes other units to perform
the necessary operation.

d) Obtaining the instructions, the control unit causes other units to perform the
necessary operation.

4. PesyabTarhl  apu()MeTHYECKHX  oONepanMii  BO3BPAIIAKTCH  HA
HAKAIVIMBAKIIMI  CyMMAaTOp, IMpPUYeM PerucTp 3anoOMHHAIOLIEro
YCTPOMCTBA NepeJaeT UX ONePATUBHON NAMATH.

a) Having returned to the accumulator, the results of the arithmetic operations are
transferred to main storage.

b) The results of arithmetic operations are returned to the accumulator, the storage
register transferring them to main memory.

c) The results of the arithmetic operations being returned to the accumulator, the
storage register transfer them to main memory.

d) Being returned to the accumulator, the results of the arithmetic operations are
transferred to main memory.

Absolute Participle Il Construction

The article having been published, I got my author’s fee. =
The article published, I got my author’s fee.

9.8. Choose the Russian equivalents of the English sentences containing the
absolute participle Il construction.

1. The compositions written, the students showed them to their teacher.

a) HamucaB counHeHus, CTyJI€HThI OKa3aJIk UX MPENoaBaTelio.

b) Ilocne TOro kak COUYMHEHHUsI OBLIM HAMKMCAHBI, CTYJAEHTHI MOKa3aJIM HUX
MPETOIaBATEIIO.

c) CryneHThl MOKa3aau NpenoaaBaTeIo HAMMCAaHHbIE UMH COUUHEHMUS.

2. The question settled, he went to the university.

a) Korma Bompoc ObLT pellieH, OH Mouiea B YHUBEPCUTET.
b) Ilocne penieHust Bonpoca OH MOIIeN B YHUBEPCUTET.
c) PemmB Bompoc, OH MOIIEN B YHUBEPCUTET.

3. The necessary data obtained, we could continue our experiment.

a) [lomyuuB HEOOXOAUMBIE TaHHBIE, MBI CMOTJIU MPOIOIKUTh AKCIEPUMEHT.

b) IlockoyibKy Bce HEOOXOIMMBIE TaHHBIE ObLIN MOJYYEHBI, Mbl CMOTJIN
MPOJIOKUTH IKCTIEPUMEHT.

¢) Mgl cMOrId NPOAOIAKUTH SKCIIEPUMEHT MOCIIE MOTYYEHUS BCEX HEOOXOIUMBIX
JTAHHBIX.
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4. The necessary data obtained, we could continue our experiment.

a) [lonmyunB HEOOXOAUMBIE TaHHBIE, MBI CMOTJIU MPOJIOIKUTh AKCIEPUMEHT.

b) IlockoybKy Bce HEOOXOIMMBIE TaHHBIE ObLIN MOJYYEHBI, Mbl CMOTJIU
MPOJIOKUTh IKCTIEPUMEHT.

¢) Mgl cMOriu NpoAOSIAKUTH SKCIIEPUMEHT MOCIIE MOJTYYEHUs BCeX HEOOXOUMBIX
JAHHBIX.

5. The session was over, with many problems left unsolved.
a) Ceccus 3aKOHUYUIIACH, IPUYEM MHOTHE aCMEeKThl TPOOJIEMbl OCTATUCH
HEpEIICHHBIMH.
b) Ceccust 3aKOHUMIJIACH C MHOTMMHU HEPEIICHHBIMU MPOOIEMaMU.
c) Ceccus 3aKOHUMIIACH, TPUYEM MHOTHE MPOOIEMBI TaK U HE ObUTH PEIICHBI.

6. The book translated into many languages, everybody was able to read it.
a) Knury nepeBenn Ha MHOTHE SI3bIKH, IO3TOMY BCE MOTJIM ITPOYUTATH €€.
b) Ilocne Toro kak KHUTY NIEPEBEIH HA MHOTHE S3bIKH, BCE CMOIJIM IPOYUTATh
ee.
c) Bce nMenu BO3MOXXHOCTh NPOYUTATh 3Ty KHUTY, MOCKOJBKY OHa ObuIa
IIepEBEICHa HA MHOTHE SI3BIKH.

Gerund Construction

Form Example

Simple Active I know of his translating the article.
51 3Ha10, YTO OH NMEPEBOAUT CTATHIO.

Perfect Active I know of his having translated the article.
51 3Ha10, 4TO OH MepeBeJl CTaThIO.

Simple Passive I know of the article being translated.
S 3Ha10, UTO CTATHIO NEPEBOAAT.

Perfect Passive I know of the article having been translated.
S 3HA10, UTO CTATHIO NEPEBEJIH.

9.9. YKaxute BapuaHT, KOTOpbiM Haubonee TOYHO nepepaeT CMbICH [aHHOro
npeanoxeHus.

1. We know of Jakobi’s having invented an electromagnetic engine for practical
purpose.

a)
b)

c)

Mei1 3HaeMm, uto SAkoOu 3aHUMaeTcs pa3pabOTKOM SEKTPOMATrHUTHOTO JABUTATENS
JUTS TIPAKTAYECKUX LIETIEH.

Me1 3HaeMm, yTo SIkoOu n300pen NIeKTPOMArHUTHBINA IBUTATENb IS
MPAKTUYECKUX LEIEH.

B) MBI y3Hamu, 4YTO 3JEKTPOMArHUTHBIA JBUTATEIb JIJIsl MPAKTUUYECKUX 1elel ObLT
n3o0peteH Axoowu.
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2. We know of their improving methods of production.

a) MpbI 3HaeM 00 X YCOBEPIIEHCTBOBAaHHBIX METO/IaX MMPOU3BOJICTBA.
b) MbI 3HaeM, 4TO OHU YCOBEPIIEHCTBOBAIN METO/IbI IIPOU3BOJICTBA.
¢) MbI 3HaeM, 4TO OHM YCOBEPUIEHCTBYIOT METO/IbI MPOU3BOACTBA.

3. The students were happy about their having completed the difficult course.
a) CTtyieHThl ObUIM CYACTJIMBBI, YTO 3aKOHYMIIM 3TOT TPYAHBINA KypC.

b) CtyaeHTsl ObUIM CYACTIIMBBI, YTO ATOT TPYJAHBIN KYpPC 3aKOHUMIICS.

C) DTOT TPYIHBIN KypC 3aKOHYMIICS, U CTYA€HThI ObUIH CHACTIIUBHI.

4. I remember of their having been shown the letter.
a) Sl MOMHIO, YTO UM TIOKA3aJIk 3TO MUCHMO.

b) S momHIO, YTO OHM MOKA3bIBAJIM 3TO MHCHMO.

¢) Sl moMHIO TMCHMO, KOTOPOE UM TTOKa3aJlu.

5. His taking part in the development of the new cooling system was of great
help to us.

a) To yTo OH MpUHKUMaI yyacTue B pa3paboTKe HOBOM CUCTEMbI OXJIAXKICHHUSI, OBLIO
IUTSL Hac OOJIBIION ITOMOIIIBIO.

b) Ero yuactue B pa3paboTke HOBOW CHUCTEMBbI OXJIaXACHUS ObLIO JJ1s1 HAC OOJIbIION

MMOMOIIBIO.
¢) OH npuHUMAJT y4acTHE B pa3paboTKe HOBOM CUCTEMBI OXJIAKIACHHUS, YTO OYCHD
MTOMOTJIO HaM.

6. Pavlov’s having devoted all his life to the progress of science is known to

everybody.
a) U3zBectHo, uTo [1aB/OB MOCBSTHI BCIO CBOIO JKU3HB MPOTPECCY HAYKH.

b) To uyto [1aBOB MOCBITHII BCIO CBOIO KU3HBb MPOTPECCY HAYKH, U3BECTHO BCEM.

c) [1aBOB MOCBSITHII BCIO CBOIO KU3HB MIPOTPECCY HAYKU, U 3TO U3BECTHO BCEM.
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UNIT 10

REVISING LEXICS

10.1. Match up the words which have a similar meaning.

1. wire a. problem

2. to unite b. to place

3. to move c. way

4. to set up d. lead

5. to contain e. to conduct
6. to send f. ground

7. since g. to connect
8. to take place h. to make better
9. trouble 1. rate

10. earth J- to travel
11. beam k. to have

12. to improve 1. by chance
13. solid m. to happen
14. means n. to transmit
15. occasionally 0. audio

16. change p. ray

17. conversion q. hard

18. sound r. because
19. speed s. variation

20. to carry out t. transformation

10.2. Translate the sentences into English.

1. YtoOBbl HMCHOJIB30BaTh CBETOBBIE BOJHBI MJIS CBS3M, Ha OpOUTE HEOOXOIUMO
YCTAaHaBJIUBATh 3€pKajia UIN PETPAHCIIAIMOHHBIE CTAHIINY.

. PannoBONHEI pacnpoCTpaHsStOTCS MO MPSIMOW JINHUH.

. Monocdepa oTpaxkaeT AJIMHHBIC BOJIHBI.

. MUKpOBOJIHBI HE OTpaXKarOTCI HOHOCPEPOId, a MPOXOAT YEPE3 HEE.

VYyeHble MOTYT OOHApYXHUTh HEUTPUHO C MOMOUIBIO TEJIECKOMOB, KOTOPHIE

YCTAHABIMBAIOT MO 3€MJIEH.

. HeliTpuHo He moaBepraeTcst BO3/ICMCTBUIO AJICKTPOMArHUTHBIX TOJICH.

. GPS — 310 cucrema, cocrosmas n3 24 CIlyTHUKOB.

8. GPS npueMHUK MOXET ONPEACIUTh TOUHOE MOJ0KECHUE MOJIB30BATENS U
0TOOpa3UuTh €T0 Ha AJIEKTPOHHOM KapTe.

9. Curnanbl oT GPS CyTHUKOB HE MOT'YT MPOXOAUTH Y€pe3 BHICOKUE 31aHUSI U TOPHI.

10. Korga curnan npoxoauT uyepes atMocdepy, ero CKOPOCTh YMEHBIIAETCS.
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REVISING GRAMMAR

Infinitive Constructions

Complex Object

We know him to be a good programmer. = We know (that) he is a good programmer.

MpbI 3HaEM, YTO OH XOPOLIHI IPOrPAMMHUCT.

I hope her to come. = I hope that she will come.

Mpb1 HageeMcs, YTO OHA MPUJIET.

10.4. Change the following complex sentences given below according to the model
and translate them.

Model: I know that he is a great scientist.
I know him to be a great scientist.

I hate when you repeat this nonsense.

I expect that he will understand your problem and help you to solve it.
The teacher wants that our homework will be prepared well.

We expect that everybody will be ready by seven.

I hate when you do this work so slowly.

I want that the work will be done in time.

We expect that you will help us.

He hates when we play computer games.

PN B W=

Complex Subject

He is known to be a good programmer. = It is known that he is a good programmer.
N3BecTHO, 4TO OH XOPOILIMMA IPOrPAMMHUCT.

to think, to consider, to know, to expect, to believe
to see, to hear

to suppose, to report, to prove, to turn out, to appear, to seem, to say

to be (un)likely to be certain to be sure

Julia is sure to come back in time.

He seems to know English.
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10.5. Change the following complex sentences given below according to the model
and translate them.

Model 1: Scientists consider that his invention is of great importance.
His invention is considered to be of great importance.

Model 2: It is said that the book is popular with both old and young.
The book is said to be popular with both old and young.

1. It is expected that some new textbooks will be published soon
Some new textbooks ... soon.

2. Scientists consider that electricity exists throughout space.
Electricity ... throughout space.

3. Itis said that radium is very radioactive.
Radium ... very radioactive.

4. They say that he is a good translator.
He ... a good translator.

5. Itis expected that this company will pay on time.
This company ... on time.

6. We consider that these devices are very effective.
These devices ... very effective.

to be sure to be certain to be (un)likely
He is sure to be back. — Oun o0s3arensHO BepHETCS.

Under these conditions the output is certain to increase. — IIpu 3TuX ycI0BHSAX BBITYCK
NPOIYKIUH, HECOMHEHHO, BO3PACTET.

She is unlikely to change her opinion. — Hemoxosxe, 4To 0Ha epeMeHHUT CBO€ MHEHHUE.

10.6. Translate the following phrases into English.

He ... (00s3aTenbHO pacckaxker) me my about this event even I don’t ask him.
The article ... (moxoxe, uro nossurcs) in the next issue of the journal.

He ... (BeposTHO, 3HaeT) her address.

He ... (maBepnska, crpocsr) about it.

We ... (HecomHenHo, 3akoHuuM) this work today.
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to seem, to appear, to turn out, to happen

They seem to know about it. — Kaxercsi, oHM 3HAIOT 00 TOM.

He appears to know his subject well. — OH, mo-BuAMMOMY, X0POIIO 3HAET CBOI IIPEMET.
The experiment turned out to be a success. — OnpIT 0ka3aJjcst yIauHbIM.

He happened to be there. — On ciay4aiino 6611 TaM.

10.7. Change the following complex sentences given below according to the model
and translate them.

Model: It seems that they have heard all about it.
They seem to have heard all about it.

1. It seems that you don’t approve of the idea.
You ... seem ... of the idea.

2. It appeared that he was losing patience.
He appeared ... patience.

3. It turned out that the language of the article was quite easy.
The language of the article turned out ... quite easy.

4. It happened that I was present at the opening session.
I happened ... at the opening session.

5. It turned out that he was a good programmer.
He turned out ... a good programmer.

6. It appears that this new method of work is very effective.
The new method of work appears ... very effective.

7. It seems that he is writing a new article.
He seems ... a new article.

8. It doesn’t seem that she wants to do anything I suggest.
She ... seem to want ... anything I suggest.
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